

## November 2018 Issue (Vol. 201) Content

- 1. Message from WKO President
- Activities of Japanese Instructors & PR (from November 2018)
- 3. 12th World Open Karate Championship
- 4. Approval of New Branch Chiefs/Contacts
- General Financial Situation & Auditor Report & Financial Statements for Fiscal Year 2017
- 6. 2019 Calendar and Power Map
- 7. WKO Website
- 8. Isami & Martial World Products

- 9. Notice from WKO Office
  - (1). WKO Office Contact Information
  - ②. Annual Fees
  - ③. Various Forms
  - 4. Invitations of Japanese Instructors
  - ⑤. Acceptance of Students from Overseas Branches
  - 6. Centralization of Communication between Overseas Branches
- 10. Current Status on Payment of Annual Fees

### 1. Message from WKO President

Dear Branch Chiefs and Contacts,

Thank you for your kind support towards the further development of WKO.

This newsletter includes the list of competitors for each country/region for the next World Championship. This framework is based on consideration of the recent increase in affiliated countries, overall balance of the number of members in each country, and other important factors, so I hope for your kind understanding towards the matter. Please send the competitor application forms for each country and region by the deadline of June 30, 2019.

The road to our biggest event that is held every 4 years has begun. We will do our best to prepare a great stage for our competitors, where they will shine the brightest in the world, and we hope that you will train your strongest competitors very hard, and send them to Japan well prepared for the battle to decide the world No. 1 in Karate.

It has been a month and a half since the previous newsletter. During this time, I was able to directly observe the All Russian Championship (September 30), and All Japan Championship (October 13-14), which were selection tournaments for the next World Championship. The All Russian Championship was a fruitful tournament highlighted by many strong competitors, led by Nazar Nasirov, who won with a high level of spirit, technique, and strength. At the All Japan Championship, Yuji Shimamoto secured his participation in the next World Championship with his solid performance and victory in the high level tournament that had many strong competitors from non-WKO organizations. For Japan, I sensed a dramatic increase in the competition level, due to the existence of the JFKO, where the friendly rivalry between various organizations is contributing to the further development of the competitors.

Although I believe that high level selection tournaments will start to be held all over the world, I wish for all of you to face such challenge with the mindset "I will train the hardest in the world", perform well in the selection tournament, and earn your place in the next World Championship. I expect you to make good use of each moment of each day, to train hard, and prepare yourself for



the big event.

In addition to the Branch Chiefs, Contacts, and competitors, I will also be looking forward to seeing all of the supporters from various countries in Japan. I believe that we will need to ask all of the Branch Chiefs and Contacts for your kind support towards the World Championship. Let us build and prepare for this World Championship together, so that we can exchange and share our happiness when it is all finished. I kindly ask for your cooperation and support.

I was recently invited by the France Branch to hold a seminar in Paris on October 27-28. This was my last overseas trip for this year. In addition to WKO members, many non-WKO members also participated in this seminar, and we enjoyed our exchange through the trainings. I observed the Kata of various organizations, and learned from their approach to training. I felt that such feeling of respect and appreciation, and the bond built through training, leads us to friendship and harmony. The organization of this seminar was led by Branch Chief Pascal Rouxel, with great support from Branch Chief Sebastien Vanroyen and the members of the national federation, and many Branch Chiefs from neighboring countries, led by EKO President Koen Scharrenberg, took part and contributed to the seminar.

During the stay in France, we were able to hold a very meaningful discussion on the strategy to realize the worldwide promotion of Full Contact Karate. Perhaps this was because of the seminar, but I felt the further development of friendship and harmony in our discussions and trainings. We are Karateka, so training is the best, and action is the best. I kindly request for the cooperation and support from our countries and regions, for the worldwide founding process for Full Contact Karate will only continue to gain speed.

I appreciated the warm welcome I received during my stay in both France and Russia. In Russia, Country Representative Yuriy Shabanov, Branch Chief Zakhir Nasirov who organized the tournament, and all related people took great care of us. I would like to take this opportunity to express my sincere appreciation to all of the related members in France and Russia for their kind care and hospitality. Thank you very much.

Lastly, we were able to announce our 96<sup>th</sup> and 97<sup>th</sup> affiliated country/area in WKO with this newsletter. For the members of Bosnia and Herzegovina, and the Vatican City State, welcome to WKO! Let us work together and further develop as a family. With 3 more countries, we will reach our goal of 100 countries. It would be great to welcome our friends from 100 countries to the World Championship next year and celebrate the beginning of our new journey together. I wish for your continuous cooperation and support for the further development of WKO.

**OSU** 

Kenji Midori

WKO President

#### 2. Activities of Japanese Instructors & PR (from November 2018 omit titles from names)

Date	Member	Place	Purpose
$2018/11/7 \sim 11/15$	Tadashi Ishihara	Brazil	Tournament & Seminar



2018/11/8 ~ 11/14	Shinichi Sotodate	Canada	Tournament & Seminar
$2018/11/21 \sim 11/29$	Shinichi Sotodate	Australia	Seminar & Grading
$2018/11/21 \sim 11/27$	Tsuyoshi Midori	Hungary	Tournament & Seminar
2018/12/12 ~ 12/18	Isao Kobayashi Ko Tanigawa Yusaku Watanabe Takashi Torihara Kazuhisa Mikami Riri Ishihara Momo Fujihara	Poland	Tournament & Seminar
$2018/12/14 \sim 12/17$	Yasukazu Koi	India	Tournament & Seminar
$2019/3/6$ $\sim$ $3/14$	Kenji Midori Yasukazu Koi	South Africa	Tournament, Seminar, Grading

### 3. 12th World Open Karate Championship

#### 1. Number of competitors for each country/region

For details, please refer to the attached file. The final total will be <u>228</u>, comprised of <u>184 men</u>, and <u>44 women</u> competitors. For countries/regions that wish to return (partial or full) their share of competitors (due to lack of, etc.), or wish to apply for the competitors participating by their own expense, <u>please contact WKO of such content by December 14 (Fri.)</u>. Since the women competitors are represented by each region, when applying for the competitors participating by their own expense, please proceed with the application based on the general consensus of the region, for there is a limit for such positions.

#### 2. General Schedule

November 6th (Wed.) - Tournament Office Opens

November 7th (Thu.) - WKO Committee Meetings, Board Meeting

November 8th (Fri.) - Referee Meeting, Competitor Orientation

November 9th (Sat.) - 12th World Open Karate Championship (1st Day)

November 10th (Sun.) - 12th World Open Karate Championship (2nd Day)

November 11th (Mon.) - WKO General Assembly

Place: Musashino Forest Sport Plaza & Tokyo Dome Hotel/Hotel Grand Palace (Kudanshita)

November 12th (Tue.) - World Karate Seminar 1st Day

November 13th (Wed.) - World Karate Seminar 2nd Day & Grading Exam

November 14th (Thu.) - Seminar participants depart Japan

Place: Fuji-Midori no Kyuka Mura

Please use this opportunity to once again confirm your Annual Fee payment status, which will need to be all complete in order to get financial support from the organizer.



#### 3. Application schedule and relevant information

May 2019 Newsletter-Guidance for various applications, application form for competitors (deadline: June 30), attendance confirmation for Branch Chiefs & Contacts (deadline: June 30), application for recommended dan promotions (deadline: June 30)

June 2019 Newsletter-World Karate Seminar & Grading Exam application form (deadline:

August 31), media accreditation (deadline: August 31), report of flight schedule (deadline:

August 31), JTB Supporters Package (deadline: TBD)

September 2019 Newsletter-Announcement of tournament draw

October 2019 Newsletter-Meeting documents, referee list

Please confirm the above content, and make preparations within your country/region for the event. \*The above schedule is subject to change, depending on the progression of the preparation work for the series of events

#### 4. Expenses covered by the organizer

Please confirm the attached list. As in the document, the accommodation arrangement (covered by organizer) for WKO Branch Chiefs/Contacts will only be for those who are approved by the WKO Board by the end of December 2018. Compared to the previous 11<sup>th</sup> World Open Karate Championship, there has been a change in the air ticket arrangement for the competitor (covered by organizer), and conditions for accommodation (covered by organizer) for the Branch Chief/Contact/Competitor, so please confirm the list very carefully. Further details that are not on the list will be announced in future Newsletters.

#### 5. Result of selection tournament (Japan)

The results of the 50th All Japan Championship held on October 13-14 is as follows.

	Men	Women
1st place	Yuji Shimamoto	Chihiro Kubota
2 <sup>nd</sup> place	Kazuya Yamamoto	Juri Minamihara
3 <sup>rd</sup> place	Daiki Kato	Riri Ishihara
$4^{ m th}$ place	Harutaka Okazaki	Yui Kikukawa
$5^{ m th}$ place	Shota Maeda	
6 <sup>th</sup> place	Yuto Eguchi	
$7^{ m th}$ place	Kazufumi Shimamoto	
8 <sup>th</sup> place	Junki Ochi	

The tournament was also a selection tournament for the 12<sup>th</sup> World Open Karate Championship, and the men competitors who got 4<sup>th</sup> place and above, and women competitors who got 2<sup>nd</sup> place and above have been selected as Japan National Team members. The second selection will be made after the 5<sup>th</sup> JFKO Championship in May 2019.

We request for countries/regions to send results of their selection tournaments, so that such content can be announced in the Newsletter.

## 4. Approval of New Branch Chiefs/Contacts

Bosnia and Herzegovina \*96th affiliated country/area



Igor Rankovic (42 years old, 1st Dan, 50 members) \*\*as Contact

Address: Mihaila Pupina 25, Bijeljina, Bosnia and Herzegovina

TEL: +387-65-818-519 E-mail: igor.rankovic76@gmail.com

#### Malavsia

Hee Soon Law (49 years old, 3rd Dan, 150 members)

Address: 13, Jalan Prima Impian 2, Taman Prima Impian,

51200 Segambut, Kuala Lumpur, Malaysia

TEL: +6012-262-8588 E-mail: law6969@gmail.com

#### **Ukraine**

Volodymyr Galimskyi (47 years old, 3<sup>rd</sup> Dan, 200 members)

Address: 11, apart 28, Soborna Str., Kropivnytskyi 25009, Ukraine

TEL: +380-66704-4930 E-mail: volodymyrgalimskyi@gmail.com

#### Vatican City State \*97th affiliated country/area

Antonio Maria La Salandra (44 years old, 1st Dan, 150 members) \*\*as Contact

Address: Via Paternopoli 54-00132 Rome, Italy

TEL: +39-328-424-4298 E-mail: prodefensivesolutions@gmail.com

#### 5. General Financial Situation & Auditor Report & Financial Statements for Fiscal Year 2017

Please confirm the attached documents.

#### 6. 2019 Calendar and Power Map

As announced in the previous issue, the 2019 Calendar and Power Map will be prepared to be dispatched in early December 2018. The items will be sent by airmail/SAL to all Branch Chiefs and Contacts who have made their payment for the Annual Fee 2018 (deadline: March 31, 2018). Please confirm that those who have not made the payment by November 16 (arrival in WKO bank) will not receive the items, even if they make the payment after this date. If there are any issues related to the following, please also contact us by this deadline (November 16). \*Extra costs will be necessary for 2 & 3

- 1. If there has been any change in your address, or if there is a wish to receive the calendar/power maps for several branch chiefs in 1 country, all together at 1 address.
- 2. If there is a wish to order extra calendars/power maps, aside from the 1 calendar and 2 power maps that will be sent for free (there is a limited stock for both). The calendar will be 1,080 yen (retail price: 2,160 yen) and the power map will be 540 yen (no branch chief/contact price).
- 3. If there is a wish to have the package sent by EMS or another method other than airmail/SAL. \*For those who have had difficulty in receiving the package by airmail/SAL (both cannot be
- tracked), or simply wish to receive the items at an earlier timing

#### 7. WKO Website

Visit our website!

http://www.wko.or.jp/

We have been working on the improvement of the WKO Website. Therefore, we would like you to send the information of events which you would like to put on the website if you have any.



Please provide us the basic information as mentioned below.

#### 1. Events

- 1) Name of the event (Name of the tournament, camp, etc.)
- 2) Date and the place where the event was held
- 3) Host branch
- 4) The number of participants to the event
- 5) List of prize winners (in case of tournament)
- 6) Details about the event (including the impressions by host)
- 7) Photos (Please give an explanation for each photo. About 5 to 10 photos will be put on the website.)

#### 2. News

- 1) Details about the news such as date, place, what happened and by whom, etc.
- 2) Photos
- Please confirm that your report may not be introduced on the website if the report is recognized as inappropriate to put on the website by WKO Office.

#### 8. ISAMI & Martial World Products

For ISAMI items, please contact Ms. Hayasaki (E-mail: yuko@isami.co.jp) or Fax (81)480-24-0713. In your message, please put "Shinkyokushinkai Dogi" as the subject.

For Martial World items, please contact Mr. Takashi Kido (E-mail: kido@mwjapan.jp) and include "Shinkyokushinkai item order" as the subject of your message.

For details surrounding the 12<sup>th</sup> World Open Karate Championship Memorial Dogi for both ISAMI & Martial World, please confirm the attached documents.

#### 9. Notice from WKO Office

#### (1). WKO Office Contact Information:

#### • E-mail address:

wko.one@shinkyokushinkai.co.jp

.. For Ms. Kaori Ono, and for Russia/Asia/N. C. S. Americas/S. Pacific regions wko.two@shinkyokushinkai.co.jp

For Mr. Hiroshi Tanaka, and for Europe/Middle East/Africa regions

- Postal Address: 9-20-2F Shin-ogawamachi Shinjuku-ku Tokyo 162-0814, Japan
- Telephone Number: +81-3-3268-1494 Fax Number: +81-3-3268-1495

#### 2. Annual Fees

## Payment of 2018 Annual Fees was due MARCH 2018.

All the Branch Chiefs/Contacts are required to pay the **Annual Fees** (US\$1~\$4 per member) based on the number of members (as of the end of December 2017) they have reported to the WKO Office by the end of January 2018. If you need an invoice, please contact the WKO Office.

**REQUEST from the WKO Office:** For those who are paying the annual fees together with other branch(s) in your country, we would appreciate if you could also provide us with the breakdown, and the number of members of each branch.





## NOTE:

- \* No order for Black Belts and Dan Grading Certificates can be accepted from those who have not paid the annual fees.
- \* Your Competitors will NOT get the financial support for participation from the World Championship organizer unless you pay the applicable annual fees.

We accept your annual fees and other payments through one of the followings: (Please do NOT use any other methods such as bank checks or cash. Cash payment with exact amount may be acceptable only when you are in Japan.)

#### Bank transfer

Has to be <u>"WKO" only.</u> Do not put anything after the name, please.

Account name: WKO — Account number: 0848604

Name of the bank: MUFG Bank, Ltd., Kagurazaka Branch

Address of the bank: 3-7 Kagurazaka, Shinjuku-ku, Tokyo 162-0825, Japan

Their SWIFT code: BOTKJPJT

 Please <u>avoid a bank that uses a transit bank</u>, which may deduct a significant amount from your intended payment.

#### • PayPal (Online –payment service by credit card)

This service is now available in 203 countries with 26 currencies. The fee is very reasonable when making a small amount transaction. For details, please visit the PayPal website.

Paypal website: <a href="https://www.paypal.com/jp/cgi-bin/webscr?cmd=\_home">https://www.paypal.com/jp/cgi-bin/webscr?cmd=\_home</a>

\*Please note that WKO will charge you a 4% handling charge to cover this receiving charge.

#### Money Gram

For those who have difficulty in making bank transfers or PayPal payments, we added the payment option by "Money Gram". For details, please visit the Money Gram website.

Money Gram website: <a href="https://www.moneygram.com/MGIRewards/Change/index.htm">https://www.moneygram.com/MGIRewards/Change/index.htm</a>

#### 3. Various Forms

The WKO Office would like Branch Chiefs and Contacts to use the designated form when they contact us. We have:

- Order and Payment Form (for payment of grading fees, annual fees, membership fees)
- WKO Official Invitation Letter Form (for inviting Japanese instructors)
- Request Form for Invitation Letter (for whom needs Visa to enter Japan)
- Application Form for a Candidate of new Branch Chief & Contact

Although we understand that some Branches/Countries have their own method, the forms helped us to do administrative work efficiently, and we appreciate your kind understanding.

### 4. Invitation of Japanese Instructors

The WKO office receives numerous invitations for Japanese instructors every year. Standard procedure calls for the Official Invitation Letter to be sent to the WKO Office with the necessary information filled in. The invitation becomes official only when the letter arrives at the WKO



Office. Please refrain from direct negotiations with Japanese instructors, for it will only lead to problems in the future. Finally, we would like for all to understand that an agreement based on direct negotiations will not be considered an official invitation.

#### (5). Acceptance of Students from Overseas Branches

Every year, numerous students from overseas branches visit Japan for the purpose of training. When a student wishes to visit Japan for training, standard procedure calls for the Branch Chief or Contact (who the student belongs to) to contact the WKO Office of the ideal time frame, dojo, and detailed information (name, dan/kyu, age, etc.) of the student. The WKO Office will confirm the content of the request with the Branch Chief/Contact of the dojo in Japan. In a case where an overseas student goes forth with his/her training in Japan without consulting the WKO Office, it would delay the response time of the WKO Office if an emergency happened to occur. To assure the safety of the students, we ask for everyone's cooperation in this matter.

#### 6. Centralization of communication between Overseas Branches

It is required that communication (related to events within the organization) between Overseas Branches and Japanese Branch Chiefs & Contacts be exchanged through the WKO Office. Translation of documents (Japanese English) will also be managed by the WKO Office. In order to avoid any unnecessary problems and confusion, we ask for everyone's cooperation in the centralization of communication between overseas branches.

#### 10. Current Status on Payment of Annual Fees as of October 31, 2018

Please confirm the attached list.

# 各国出場枠 The number of competitors for each country/region

Region	地区	Country	п	推定会員數 Estimated No. of	第9回実績 9th WC	第10回実績 10th WC	第11回実績 11th WC	第12回枠 12th WC	年会費增額 Increase in	納付状況 Payment	備考 Remarks
lenen	日本	lanan.	日本	Members 10.020					Annual Fee	Status	7,5,11,2,10
Japan		Japan		19,930	16	16		16			
Europe	ヨーロッパ	Poland	ポーランド	7,586	1			5	14	0	
Russia	ロシア	Russia	ロシア	4,458	8	8		7	1~4	Δ	
Europe	ヨーロッパ	Lithuania	リトアニア	3,918	5	5		5	1	0	
Europe	ヨーロッパ	Sweden	スウェーデン	3,664	3	4	3	4	2	0	
Europe	ヨーロッパ	Hungary	ハンガリー	3,150	5	4		4	1~2	0	
North America	北米	Canada	カナダ	2,694	1	2	2	1	1~4	Δ	
Asia	アジア	Kazakhstan	カザフスタン	2,585	4	4		4	1~3	Δ	
South America	南米	Uruguay	ウルグアイ	2,418	1	1	2	2	1	0	
Europe	ヨーロッパ	Ukraine	ウクライナ	2,400	4	4	4	3	1~3	Δ	
South America	南米	Brazil	ブラジル	2,105	3			2	1	Δ	
Europe	ヨーロッパ	Spain	スペイン	1,650	4	3	3	3	2~3	0	
Asia	アジア	India	インド	1,454	2	1	1	1	1	Δ	
Africa	アフリカ	South Africa	南アフリカ	1,187	2	2	2	2	1	Δ	
Asia	アジア	Sri Lanka	スリランカ	1,070	1	1	1	1	1	Δ	
Asia	アジア	Indonesia	インドネシア	1,020	0	2	2	1	1~2	0	
Europe	ヨーロッパ	Denmark	デンマーク	1,005	4	3	3	2	2	0	
Europe	ヨーロッパ	Bulgaria	ブルガリア	851	4	4	4	3	1~2	0	
Middle East	中東	Iran	イラン	850	1	1	1	1	1	Δ	
Asia	アジア	China	中国	827	2	1	1	1	1~2	0	
Europe	ヨーロッパ	Belgium	ベルギー	780	2	1	1	1	1~2	0	
Europe	ヨーロッパ	Germany	ドイツ	635	2	2	1	1	2	0	
Europe	ヨーロッパ	France	フランス	600	3	2	2	2	2	0	
Europe	ヨーロッパ	Norway	ノルウェー	567	1	1	1	2	5	0	
Europe	ヨーロッパ	Switzerland	スイス	563	1	2	1	1	4	0	
Europe	ヨーロッパ	Romania	ルーマニア	540	2	2	2	1	1	0	
Asia	アジア	Pakistan	パキスタン	530	3	1	1	1	1	Δ	
South Pacific	南太平洋	Australia	オーストラリア	500	4	3	3	2	1~4	0	
Middle East	中東	Lebanon	レバノン	500	2	1	1	1	1	Δ	
Asia	アジア	Afganistan	アフガニスタン	481	0	1	0	1	1	Δ	
Europe	ヨーロッパ	Netherlands	オランダ	473	3	3		2	3~4	Δ	
Africa	アフリカ	Mauritius	モーリシャス	410	2	2	1	1	1~1.5	0	
Asia	アジア	Uzbekistan	ウズベキスタン		2	1	1	1	1.41.3	Δ	
Europe	ヨーロッパ	Greece	ギリシャ	410		1					
			-	400	1	1	1	1	1	0	
Asia	アジア	Singapore	シンガポール	400			- 1	- 1	1 -	0	
Europe	ヨーロッパ	Israel	イスラエル	380	2	2	1	1	5	Δ	
Europe	ヨーロッパ	Czech Republic	チェコ	320	1	1	1	1	1	0	
Europe	ヨーロッパ	Austria	オーストリア	300	0	1	1	1	1	0	
Europe	ヨーロッパ	Azerbaijan	アゼルバイジャン	300	2			1	1	0	
Europe	ヨーロッパ	Croatia	クロアチア	300	1	1	1	1	1~2	0	
Europe	ヨーロッパ	Italy	イタリア	300	0		1	1	1	0	
Africa	アフリカ	Tunisia	チュニジア	300			1	1	1	0	
South America	南米	Argentina	アルゼンチン	284	1	1	1	1	1.7~2.0	0	
Central America	中米	Puerto Rico	プエルトリコ	257	1	1	1	1	1	0	
Europe	ヨーロッパ	Armenia	アルメニア	250	1	1	1	1	1	0	
Asia	アジア	Bangladesh	バングラデッシュ	250			0	1	1	0	
Asia	アジア	Kyrgyz	キルギス	250	1	1	1	1	1~2	0	
South America	南米	Paraguay	パラグアイ	250	1	1	1	1	2	Δ	
Asia	アジア	Tajikistan	タジキスタン	250			0	1	1	Δ	
Middle East	中東	U.A.E.	アラブ首長国連邦	225	1	1	1	1	1	0	
Europe	ヨーロッパ	Georgia	ジョージア	220	2	2	2	1	1	Δ	
Asia	アジア	Korea	韓国	220	1	1	1	1	1~2	Δ	
Asia	アジア	Vietnam	ベトナム	202		<u> </u>	0	1	1	0	
South America	南米	Bolivia	ボリビア	200			0	1	1	Δ	
Middle East	中東	Iraq	イラク	200	1	1	1	1	1	0	
Asia	アジア	Malaysia	マレーシア	200	· '	<u>'</u>	1	1	1	Δ	
Europe	ヨーロッパ	Slovakia	スロバキア	200	0	1	1	1	1	0	
	ヨーロッパ	Belarus	ベラルーシ		- 0	'	1	1	1	0	
Europe	+		-	180	-						
Europe	ヨーロッパ	Moldova	モルドバ	150	1	1	1	1	1	0	
South America	南米	Peru	ペルー	150	1	1	1	1	1	Δ	
North America	北米	USA	アメリカ	136	0		1	1	1~7.5	Δ	
Asia	アジア	Hong Kong	香港	120	_	1	1	1	2	0	
Europe	ヨーロッパ	Liechtenstein	リヒテンシュタイン	115	1	1	1	1	4	0	
Asia	アジア	Guam	グアム	112			1	1	4	Δ	

1

# <u>各国出場枠</u> The number of competitors for each country/region

Region	地区	Country		推定会員數 Estimated No. of Members	第9回実績 9th WC	第10回実績 10th WC	第11回実績 11th WC	第12回枠 12th WC	年会費増額 Increase in Annual Fee	納付状況 Payment Status	備考 Remarks
Asia	アジア	Mongolia	モンゴル	110			1	1	1	0	
Asia	アジア	Taiwan	台湾	110			0	1	1	0	
Asia	アジア	Philippines	フィリピン	109	0		1	1	1	Δ	
Central America	中米	Honduras	ホンジュラス	107			0	1	1~2	0	
Africa	アフリカ	Algeria	アルジェリア	100			0	1	1	Δ	
Europe	ヨーロッパ	Andorra	アンドラ	100			0	1	2	0	
Central America	中米	Aruba	アルバ	100	1	1	0	1	1	0	
South America	南米	Chile	チリ	100	1	1	1	1	1	Δ	
Central America	中米	Costa Rica	コスタリカ	100	2	2	1	1	1~2	Δ	
Middle East	中東	Kuwait	クウェート	100		1	1	1	5	0	
South Pacific	南太平洋	New Zealand	ニュージーランド	100		1	0	1	1	Δ	
Central America	中米	Panama	パナマ	100	1	1	1	1	1	Δ	
Africa	アフリカ	Reunion	レユニオン	100			0	1	1	0	
Asia	アジア	Thailand	タイ	100			0	1	2	0	
Asia	アジア	Nepal	ネパール	90			0	1	1	Δ	
Europe	ヨーロッパ	Great Britain	イギリス	88	0	1	1	1	5	0	
South America	南米	Venezuela	ベネズエラ	80	-		0	1	1	0	
Central America	中米	Curação	キュラソー	50	1	1	0	1	4 <b>~</b> 5	Δ	
Asia	アジア	Macau	マカオ	26			0	1	4	0	
Central America	中米	Mexico	メキシコ	25			0	1	1	Δ	
Africa	アフリカ	Botswana	ボツワナ	_	0		0	0	_	×	
Africa	アフリカ	DR Congo	コンゴ共和国	-			0	0	_	×	
Europe	ヨーロッパ	Estonia	エストニア	_	0		0	0	_	×	
Middle East	中東	Jordan	ヨルダン	_	1		0	0	-	×	
Europe	ヨーロッパ	Latvia	ラトビア	_	1	1	1	0	-	×	
Africa	アフリカ	Malawi	マラウィ	-	1		0	0	-	×	
Africa	アフリカ	Morocco	モロッコ	_			0	0	_	×	
Europe	ヨーロッパ	Portugal	ポルトガル	-		1	0	0	-	×	
Africa	アフリカ	Swaziland	スワジランド	_			0	0	-	×	
Central America	中米	Trinidad & Tobago	トリニダードトバゴ	-	0		0	0	-	×	
Middle East	中東	Yemen	イエメン	_			0	0	-	×	
Others	その他	Other	その他		1		0	0		-	
実行	委員会推薦枠 (Or	ganizer Recommen	dation)			0	0	0			
	7	lotal .		81,027			128	136			

----※2018年8月末時点の加盟国・地域に準ずる/Based on the affiliated countries & regions as of August 31, 2018

19,930 61,097

男子は+<u>自替40名(日本4名、ヨーロッパ12名、ロシア2名、アジア8名、他地区14名</u>)でWKOから合計176名/Including the <u>40 competitors (Japan 4. Europe 12. Russia 2. Asia 8. Other Regions 14) participating by their own expense</u> (domestic & international airfare, accommodation, all costs related to the tournament), the total number of WKO competitors in the Men's Category will be 176

#### 女子/Women

Region	地区	12 WC	12 Extra	12 Total	
Europe	ヨーロッパ	12	2	14	
Japan	日本	8	1	9	
Russia	ロシア	4	1	5	
South Pacific	南太平洋	1			
Africa	アフリカ	1		İ	
Asia	アジア	1			
Central Asia	中央アジア	1	4	12	
Middle East	中東	1	4	12	
North America	北米	1			
Central America	中米	1			
South America	南米	1			
Total		32	8	40	

#### KWU

男子/Men	女子/Women	Total
8	4	12

## 総合計/Final Total

	主催者負担/Organizer Coverage	自費/Own Expense	KWU	Total
男子/Men	136	40	8	184
女子/Women	32	8	4	44
Total	168	48	12	228

#### 重要/Important

- 自費枠の他地区(上記地区の男子14名&女子4名)につきましては、各地区からの申込(期限:2018年12月14日、男子は国単位&女子は地区単位)をもとに実行委員会 が全体のバランスを考慮の上、枠を割り振る/For the other regions (14 men for and 4 women for above-mentioned regions), the Organizing Committee will decide the allocation of the participants, based on the overall balance of the applications (deadline: December 14, men based on country, women based on region)

参加区分/Participant Type		航空券/Air Ticket		公式ホテル宿泊(主催者・ビザンVisa		主催者手配)/Accommodation at Official Hotel (Arranged by Organizer)		世界空手セミナー	移動/Transportation		入場/Entrance	
<b>参加位力/ Participant Type</b>	Cost Coverage Remarks  Cost Coverage & Check-in Check-out Remarks		Remarks	World Karate Seminar	Airport⇔ Official Hotel	Official Hotel⇔ Gymnasium	Gymnasium	Sayonara Party				
WKO理事·監事·委員 WKO Board, Auditors, and Committee Members	× 自己手配 Self Arrangement	発券後、旅程などの詳細をWKOに報告 After booking, please report the flight	0	O Single	Nov. 6 (Wed.)	Nov. 12 (Tue.)	ポーター)とのルーミング希望やアップグ レード(例:ツイン→シングル、ツイン→トリ	O WKO審査委員&技術委員のみ Only WKO Grading & Technical Committee Members	×	0	0	0
WKO支部長道場長 WKO Branch Chiefs/Contacts	× 自己手配 Self Arrangement	schedule and details to WKO	0	O Twin	Nov. 7 Nov. 12 (Thu.) Nov. 12 (Tue.) Thu.) Thu	ブル)は受け付けない。ルーミング希望や アップグレードを最優先とする場合は主催 者負担なしの自己手配(JTB、他)を促す WKO will not accept rooming requests with × those not covered by the organizer, such as family members, coach, supporters, and	×	×	0	0	0	
選手(主催者負担) Competitors (covered by organizer)	〇 自己手配 Self Arrangement	事前に旅程&価格をWKOに送り、承認されてから発券 ※エコノミークラスで価格がリーズナブルであること Please send the flight schedule and costs to WKO before booking, and only proceed with the booking after approval from WKO. *The ticket must be a reasonably priced economy class air ticket	0	O Twin	Nov. 7 (Thu.)	Nov. 11 (Mon.)	others. Requests for upgrades (for example, from a twin to single, or twin to triple) will also not be accepted. If such requests are of the highest priority, self arrangement via JTB or other methods will be recommended (no costs coverage by organizer).	×	O (Narita/Haneda)	0	0	0
自費枠選手 Competitors (own expense)							×	×	0	0	0	
審判(支部長道場長以外) Referees (excluding Branch Chiefs & Contacts)	×	自費枠選手は旅程と宿泊先の詳細をWKOに報告 Competitors (own expense) need to report	JTB					×	×	0	0	0
コーチ(支部長道場長以外 で1国1名) Coach (1 per country, excluding Branch Chiefs & Contacts)	自己手配 Self Arrangement	· 于配 their flight cohedule and accommodation site	Supporters Package			×	×	0	0	0		
サポーター Supporters								×	×	×	JTB Supporters F WKO Headquarter	

※WKO支部長道場長の宿泊手配(主催者負担)は、2018年12月末までにWKO理事に承認された支部長道場長のみとする/The accommodation arrangement (covered by organizer) for WKO Branch Chiefs and Contacts will only be for those who are approved by the WKO Board by the end of December 2018

### WKO General Financial Situation for Fiscal Year 2017 (1 April 2017 – 31 March 2018)

Yasukazu Koi, WKO Executive Director

In the Karate world, the international united front of Full Contact Karate is expanding at a steady pace, while the WKF carries out activities in preparation for the Tokyo 2020 Olympics. The current trend within the Full Contact Karate world, of division and reduction within other Kyokushin groups, and the experiment of the semi-contact competition, can be seen as external elements that will lead to an increase in the presence of WKO. By playing the leading role in the organizing of the World Fullcontact Karate Championship in 2020, and the establishment of the WFKO (World Fullcontact Karate Organization), the international federation (IF) for Full Contact Karate, the international presence of WKO as the leader of the Full Contact Karate world will increase even further. In the trend to establish national federations (NF) of Full Contact Karate, and the promotion of exchange between KWU, which WKO enjoys a partnership with, it is important for WKO affiliated countries and branches to carry out their activities with a clear vision of collective interest, in order to increase the importance, uniqueness, and value of WKO as an organization.

In this fiscal year, the profit base is stable due to the weak yen and increase in affiliated countries and members, but it is also clear that the profit from the Japan Region is still the main pillar for the entire organization. Compared to the previous fiscal year, there was a significant increase in the Dan grading fees, and this is related to the fact that the WKO Grading Exam was held twice. On the other hand, in terms of expenses, various costs were involved with the World Championship in Weight Categories, such as financial support for the organizer, office-related expenses (transportation, interpreter, etc.), and public relations (production of online program). In general, the profit margin decreased from the previous year, but the organization was able to secure an ordinary profit of 3 million yen, making it a good fiscal year.

#### ■ Net Sales: ¥ 44,700,000 [Previous Period ¥40,000,000 (+¥4,700,000)]

The flat trend in the exchange rate and number of worldwide members, need to be taken into account when analyzing this section. There was a significant increase of 5 million yen in the Dan grading fees compared to the previous period. This is mainly related to the WKO Grading Exam being held twice, but the numbers for various regions increased as well. Such main factors led to a 10% increase in net sales, which amounted to \$\frac{45}{45}\$ million yen. Although the arrangements for the accounting standards (a shift to accrual basis) are gradually improving, the cooperation of all countries and branches is necessary for completion. The Yen rate at the end of March 2018 was 1 US Dollar = 106 yen (previous period 112 yen).

## ■ Gross Profit on Sales: ¥ 39,200,000 [Previous Period ¥35,200,000 (+¥4,000,000)]

The increase in purchase (belts) corresponds to the increase in Dan promotions. The cost of sales is based on Yen, and does not have any significant effect from the exchange rate. The increase in Dan promotions was directly reflected in the result.

#### ■ Sales, General & Administration Expenses: ¥35,900,000 [Previous Period ¥26,400,000 (+9,500,000)]

In general, the expenses related to the World Karate Championship in Weight Categories, is the main reason behind the difference from the previous period. The traveling transportation expense is mainly comprised of the costs related to the World Karate Championship in Weight Categories (WKO Office staff), and the KWU World Championship (WKO official, PR, etc.). For the commission paid, there was a significant increase (8 million yen) in the expenses related to the World Karate Championship in Weight Categories. The financial support towards the organizer, interpreter/translator costs, and the production of the online program were the main reasons behind this increase. The costs for the translating staff (English, Russian, social media) of the WKO Office have been included from this fiscal year (JKO covered such costs in past fiscal years). As was the case in the previous period, the payment of 2.4 million yen to the Oyama family for the use of the "Masutatsu Oyama trademark" is also included in the expenses. The above factors contributed to a 36% increase (compared to previous year) for a total of 35.9 million yen.

## ■ Ordinary Profit: ¥3,100,000 [Previous Period ¥8,500,000 (-¥5,500,000)]

Non-operating expenses include the interest payable for borrowings (from JKO). In total, the increase in the gross profit on sales was able to cover the increase in the sales, general & administration expenses related to the World Karate Championship in Weight Categories. Due to such factors, WKO was able to secure an ordinary profit of 3.1 million yen (decrease of 5.5 million yen compared to previous period).

### WKO Auditor Report for Fiscal Year 2017

Based on our auditing of the administrative and accounting procedures of WKO during 2017 April 1st to 2018 March 31st, we would like to report as follows.

#### [1] Auditor Comments

The profit base of the organization is stable due to the weak yen and increase in affiliated countries and members. The profit from Japan is still the main pillar of the entire organization, but due to the steady increase of members in Asia and other factors, there seems to be hope a change in such trend. As a goal, if the affiliated countries can achieve significant growth, ideally to a level similar to Poland, which has 7,000 to 8,000 members, it would enable the organization to carry out activities in a more stable manner.

In terms of profit, there was a significant increase in the Dan grading fees, due to the WKO Grading Exam being held twice. For the expenses, significant costs were necessary for the World Karate Championship in Weight Categories, such as financial support for the organizer, office-related expenses, public relations, and other matters.

In addition, for the reimbursement by the Russian Branch Chief that has remained to be an issue, efforts have been made to receive a reimbursement plan, and payments are being made to settle the case.

In general, the profit margin decreased from the previous year, but the organization was able to secure an ordinary profit of 3 million, making it a good fiscal year.

In terms of auditing, the equipment and documents in the office were organized in a neat manner, and enabled a smooth auditing procedure.

#### [2] Auditor Report

#### (1) Outline of Audit Procedure

- ① For the auditing of accounting procedures, we considered the accuracy of the accounting documents utilizing all necessary measures, including the viewing of account books and related papers.
- ② For the auditing of administrative procedures, we attended meetings such as the Board Meeting and General Assembly, listened to administrative reports, and utilized all necessary measures to consider the appropriateness of the executed work.

#### (2) Result of Auditing

As a result of the above auditing, the accounting process was appropriate and precise. The administrative work was also properly executed based on the business plan.

Report by WKO Auditors: Yasuhiro Kurooka, Kensaku Yamamoto WKO Auditors Jan Bulow and Boris Glushenkov agree and have approved of the content above.

# Audit Report

Today, as a result of my review of the financial statement of NPO World Karate Organization contained in this report, I hereby acknowledge that the financial statements are correct.

12/9/2018	ER ATIO
Date	Yasuhiro Kurooka
12/9/2018	山本健康
Date	Kensaku Yamamoto
19/10/2018	Alm Jaco
Date	Jan Bulow
30/10/2018	-5/5
Date	Boris Glushenkov

## WKO Profit and Loss Statement Fiscal Year 2017

WNO Profit and Loss S	Final Accounts	Final Accounts	Comparison		
Title	Fiscal Year 2017	Fiscal Year 2016			
	2017/4/1~2018/3/31	2016/4/1~2017/3/31	Difference	Percentage	
Annual membership fee	22,273,606	22,087,275	186,331	101%	
Registration fees	558,577	542,622	15,955	103%	
Dan grading fees	21,708,580	17,205,716	4,502,864	126%	
Royalty fees	o	o	0	#DIV/0!	
Commodity sales	165,753	208,359	-42,606	80%	
Total sales	44,706,516	40,043,972	4,662,544	112%	
Beginning of period commidity	0	0	0	#DIV/0!	
Cost of black belt	5,506,512	4,847,487	659,025	114%	
Cost of commodity	28,325	27,090	1,235	105%	
Ending inventory	0	0	0	#DIV/0!	
Cost of sales	5,534,837	4,874,577	660,260	114%	
Gross profit on sales	39,171,679	35,169,395	4,002,284	111%	
Salaries and allowances	10,800,000	10,800,000	0	100%	
Rent	1,200,000	1,200,000	0	100%	
Traveling transportation expenses	3,171,721	915,301	2,256,420	347%	
Communication expenses	1,456,421	1,240,298	216,123	117%	
Entertainment expenses	404,053	489,443	-85,390	83%	
Rental fees	1,245,780	1,245,780	0	100%	
Consumables and equipment	87,184	72,363	14,821	120%	
Taxes	14,100	666,270	-652,170	2%	
Packing, freight, and deliverly cost	253,072	232,144	20,928	109%	
Advertisement expenses	1,382,142	2,263,692	-881,550	61%	
Commission paid	11,572,329	3,577,030	7,995,299	324%	
Meeting expenses	525,095	60,580	464,515	867%	
Commission for personal & accounting service	3,600,000	3,600,000	0	100%	
Miscellaneous expennses	143,100	o	143,100	#DIV/0!	
Selling, General and Administrative Expenses Total	35,854,997	26,362,901	9,492,096	136%	
Operating loss	3,316,682	8,806,494	-5,489,812	38%	
Interest income	172	93	79	185%	
Exchange difference profit	15,449	0	15,449	#DIV/0!	
Miscellaneous income	29,691	33,480	-3,789	89%	
Non-operating income	45,312	33,573	11,739	135%	
Interest cost	300,000	300,000	0	100%	
Exchange difference loss	0	7,838	-7,838	0%	
Miscellaneous loss	0	0	0	#DIV/0!	
Non-operating loss	300,000	307,838	-7,838	97%	
Ordinary profit and loss	3,061,994	8,532,229	-5,470,235	36%	
Loss from the prior-term adjustments	0	0	0	#DIV/0!	
Total extraordinary loss	0	0	0	#DIV/0!	
Income profit before income taxes (Ordinary profit and loss)	3,061,994	8,532,229	-5,470,235	36% unit:ven	

unit:yen

Tialo	Fiscal 2017 Final Accounts	Fiscal 2016 Final Accounts	Comp	arison
Title	2017/4/1~2018/3/31	2016/4/1~2017/3/31	Difference	Percentage
Cash on hand	18,094	2,802	15,292	646%
Cash in bank (WKO)	22,955,650	16,936,696	6,018,954	136%
Cash in bank (WC Weight Categories)	0	680,019	-680,019	0%
Cash in bank (WC Open Weight)	0	0	0	#DIV/0!
Cash on hand and in bank	22,973,744	17,619,517	5,354,227	130%
Accounts recievable	192,976	192,976	0	100%
Total accounts	192,976	192,976	0	100%
Goods & products	0	0	0	#DIV/0!
Prepaid expenses	223,800	0	223,800	#DIV/0!
Advance money	1,795,931	1,735,832	60,099	103%
Temporary payments	0	0	0	#DIV/0!
Total miscellaneous current assets	2,019,731	1,735,832	283,899	116%
Total Assets	25,186,451	19,548,325	5,638,126	129%
Accounts payable	207,804	417,631	-209,827	50%
Short-term borrowings	0	0	0	#DIV/0!
Accrued expenses	2,020,000	0	2,020,000	#DIV/0!
Accrued income tax etc.	70,000	70,000	0	100%
Temporary receipts	289,450	1,031,738	-742,288	28%
Money entrusted	8,575	37,366	-28,791	23%
Unpaid consumption tax etc.	0	0	0	#DIV/0!
Total current liabilities	2,595,829	1,556,735	1,039,094	167%
Long-term borrowings	12,761,516	11,154,478	1,607,038	114%
Total fixed liabilities	12,761,516	11,154,478	1,607,038	114%
Total liabilities	15,357,345	12,711,213	2,646,132	121%
Inappropriate deficit for the current year	9,829,106	6,837,112	2,991,994	144%
Surplus	9,829,106	6,837,112	2,991,994	144%
Total liabilities and shareholders' equity	25,186,451	19,548,325	5,638,126	129% unit:ven

unit:yen

			legistration Fee	Dan Grading Fee	Commodity Sales and Others	Total Sales	Percentage	Fiscal Year 2016 Sales	Comparis
アフガニスタン	Afghanistan	39,007	0 0 500	0	0	39,007		14,596	24
ベングラデシュ 中国	Bangladesh China	47,309 10,533	31,539	6,518 149,160	5,407	85,366 165,100		295,094	-129
アム	Guam	48,812	0	15,799	0,107	64,611		49,024	15
港	Hong Kong	25,278	0	15,406	0	40,684		219,358	-178
ンド	India	292,795	130,749	516,828	2,620	942,992		545,773	39
ンドネシア 'レーシア	Indonesia Malaysia	179,630 32,678	0	405,923 168,191	0	585,553 200,869		793,410 151,398	-20°
ザフスタン	Kazakhstan	192,941	0	806,760	0	999,701		1,774,076	-77
韓国	Korea	33,138	0	69,972	0	103,110		345,884	-24
Fルギス	Kyrgyz	39,106	0	39,105	0	78,211		15,027	6
マカオ	Macau	22,708	0	25,677	0	48,385		11,789	3
<u>=ンゴル</u> ≒パール	Mongolia Nepal	11,326 22,240	0	192,459 450,432	9,780	213,565 472,672		56,163 16,860	15 45
パキスタン	Pakistan	55,156	0	62,700	0	117,856		110,245	70
フィリピン	Philippines	38,285	0	68,445		106,730		0	10
レンガボール	Singapore	77,793	0	470,413	0	548,206		135,203	41
<b>ミリランカ</b>	Sri Lanka	112,606	32,640	141,297	0	286,543		228,726	5
ヌジキスタン 台湾	Tajikistan Taiwan	12,000	0	0	0	12,000		139,069	-12
375 37	Thailand	20,330	0	99,150	0	119,480		37,395	8
ウズベキスタン	Uzbekistan	46,713	0	33,296	0	80,009		34,833	4
ベトナム	Vietnam	21,321	33,822	98,100		158,523		14,467	14
	Asia Total	1,381,705	228,750	3,835,631	23,087	5,469,173	12%	4,988,390	48
<u>アルジェリア</u> ドツワナ	Algeria Botswana	22,720	0	51,122 0	12,155	85,997 0		0	8
コンゴ民主共和国	DR Congo	0	0	0		0		0	
マラウィ	Malawi	0	0	0	0	0		0	
Eーリシャス	Mauritius	56,502	33,666	148,432	0	238,600		255,410	-1
Eロッコ	Morocco Barrian Taland	10.450	20.010	0	0	49.070		0	
シユニオン島 有アフリカ	Reunion Island South Africa	12,458 136,034	30,812 0	66,459	0	43,270 202,493		765,668	-56
利 <i>アンリカ</i> スワジランド	Swaziland	136,034	0	00,409	0	202,493		0 0	
Fュニジア	Tunisia	31,584	0	0	0	31,584		78,967	-4
	Africa Total	259,298	64,478	266,013	12,155	601,944	1%	1,100,045	-49
アンドラ	Andorra	22,981	0	32,700	0	55,681		18,896	3
アルメニア ナーストリア	Armenia Austria	26,635 31,584	0	111,015 47,376	1,080	138,730 78,960		0 126,555	13 -4
ーストリア   ゼルバイジャン	Azerbaijan	38,512	0	799,306	0	76,960 837,818		52,303	78
ベラルーシ	Belarus	51,661	0	53,906	0	105,567		13,032	9
ベルギー	Belgium	113,869	0	154,924	0	268,793		299,480	-3
ブルガリア	Bulgaria	89,040	0	423,159	0	512,199		502,117	1
7 <i>0747</i>	Creatia	79,964	0	21,800	0	101,764		80,083	2 1
チェコ デンマーク	Czech Republic Denmark	33,440 59,438	0	15,939 154,640	6,800	49,379 220,878		67,429 673,645	-1 -45
エストニア	Estonia	0	0	0	0	0		0	
<b>プランス</b>	France	166,405	32,215	161,860	0	360,480		347,996	1
ブルジア	Georgia	28,943	0	38,575	0	67,518		28,763	3
イツ	Germany Great Britain	140,119	0	204,264	0	344,383		282,586	6
<u>イギリス</u> ギリシャ	Great Britain Greece	48,391 26,961	0	94,732 472,845	0	143,123 499,806		111,869 384,706	11
トリンヤ	Hungary	692,301	0		14,540	1,678,326		1,196,131	48
イスラエル	Israel	211,052	0	129,221	0	340,273		233,694	10
イタリア	Italy	53,845	0	37,062	0	90,907		26,652	6
ラトビア Jr.ニンベル・セイン・	Latvia	0	0	0 00 000	0 8,977	156 205		0 92 009	
<u>ルテンシュタイン</u> ルアニア	Liechtenstein Lithuania	48,410 412,427	0	98,898 758,536	8,9//	156,285 1,170,963		83,908 1,703,784	-53
Eルドバ	Moldova	16,726	0	110.335	0	127,061		226,376	-9
ナランダ	Netherlands	342,377	0	110,588	0	452,965		235,611	21
ボーランド	Poland	765,241	33,978	1,755,818	7,500	2,562,537		2,246,515	31
<b>ドルトガル</b>	Portugal	0	0	0	0	0		0	
レーマニア	Romania	58,487	0	273,052 32,700	0	331,539		310,909	3
スロバキア スペイン	Slovakia Spain	21,059 440,738	0	646,370		53,759 1,095,828		22,548 1,188,183	-9
スウェーデン	Sweden	1,576,739	0	281,424		1,858,163		244,928	1,61
スイス	Switzerland	237,581	67,320	201,370	5,269	511,540		428,152	8
<b>ウクライナ</b>	Ukraine	405,256	0	700,500		1,105,756		1,109,423	-
/ルウェー	Norway	322,382	122.512	110,793 9,005,193		433,175	OEN	632,088	-19
コシア	Europe Total Russia	6,562,564 1,469,417	133,513 0			15,754,156 2,737,039	35%	12,878,362 1,915,780	<b>2,87</b>
	Russia Total	1,469,417	0	1,218,502	49,120	2.737.039	6%	1,915,780	82
(ラン	Iran	16,256	32,511	113,788	0	162,555		211,615	-4
(52	Iraq	0	0	0		0		0	
3ルダン フウェート	Jordan Kuwait	0 124,445	0	0		124 445		0	12
/ヷェート /バノン	Lebanon	76,000	0	186,983	0	124,445 262,983		116,430	14
アラブ首長国連邦	U.A.E.	0	0	0		0		39.872	-3
(エメン	Yemen	0	0		1	0		0	
h+#	Middle East Total	216,701	32,511	300,771	12.941	549,983 2 180 774	1%	367,917	18
コナダ アメリカ	Canada USA	851,423 45,074	33,198			2,169,774 61,206		1,976,643 216,025	19 18
	rth America Total	896,497	33,198			2,230,980	5%	2,192,668	3
アルバ	Aruba	24,557	0	0	0	24,557		48,241	-2
1スタリカ	Costa Rica	38,028	0	149,429	0	187,457		216,996	-2
テュラソー	Curacao	21,048	0	69 221	8,764 0	29,812		27,797	
キンジュラス キシコ	Honduras Mexico	22,578	0	69,221		91,799		52,889 10,862	-1
パナマ	Panama	12,346	0	16,241	0	28,587		0	2
「エルトリコ	Puerto Rico	43,651	0	47,817	0	91,468		280,435	-18
リニダードトバゴ	Trinidad & Tobago	0	0	0		450.000		0	
	Argentine	162,208	0		8,764	453,680 107,524	1%	637,220 106 542	-18
'ルゼンチン 「ラジル	Argentina Brazil	107.524 89,476	34,255	0 369,455	0	107.524 493,186		106.542 477,267	1
-1J	Chile	0	34,233	0		430,100		160,335	-16
ペラグアイ	Paraguay	0	0	0	0	0		0	
×µ−	Peru	31,052	0	36,884	0	67,936		0	(
<u> ジェグア</u>	Bolivia	12,314	0	64,452	5,900	82,666		88,185	
フルグアイ ベネズエラ	Uruguay Venezuela	261,656	0	319,143		580,799 0		477,145	10
	uth America Total	502,022	34,255	789,934	_	1,332,111	3%	1,309,474	2
トーストラリア	Australia	216,100	0	163,981	0.300	380,081		469,373	-8
ニュージーランド	New Zealand	20,278	0	0	_	20,278		0	2
	outh Pacific Total	236,378	0			400,359	1%	469,373	-6
	Japan	10,586,816	31,872	3,165,952		13,784,640	31%	14,184,743 14,184,743	-40 -40
		10 500 010	21 070	2 105 050					
本	Japan Total	10,586,816	31.872 0	3,165,952 1,392,451	0	13,784,640 1,392,451	-	0	1,39
日本 WKO Grading Exam				1,392,451	0	1,392,451	-		_

				2018			2017				20	16		1		
	<u> </u>	Branch Chief		会員数	20	年会費	会員數	201	年会費	会員数		年会費	会員数	201	年会費	備考
Country	国名	Name Samir	支部長名	Members	\$		Members		Annual Fee	Members	\$	Annual Fee	Members		Annual Fee	/Remarks
Algeria	アルジェリア	Bouizegarene	サミル・ボウイゼガレネ				100	1.0	\$100	100	1.0	\$100	103	1.0	\$103	since 2015.6
Botswana	ボツワナ	Vusi Setlhare	ヴシ・セトラーレ											Ш		
DR Congo	コンゴ民主 共和国	Ebete Gana Tampwo	エベテ・ガナ・タンポ													
Malawi	マラウィ	Gibson Masebo	ギブソン・マセボ													
Mauritius	モーリシャス	Aslum Jeewa	アスラム・ジーワ	300	1.6	\$475	380	1.0	\$380	380	1.0	\$380	380	1.0	\$391	
Mauritius	モーリシャス	Muhammad Moobeen Jeewa	ムハマド・モービーン・ジーワ	110	1.0	\$110								П		since 2017.12
Morocco	モロッコ	Said Bouzida	サイド・ブージダ											П		since 2012.11
Reunion	レユニオン	Jean-Michel	ジーン・ミシェル・マグダリ	100	1.1	\$113								П		since
South	南アフリカ	Magdeleine Isaac Mashinini	アイザック・マシニーニ	650	Н	\$650	530	1.0	\$530	460	1.0	\$460	400	1.0	\$400	2017.12
Africa South				000	1.0	4000	000		\$000	400	1.0	\$400	400		<b>\$400</b>	
Africa South	南アフリカ	Patrick Mdakane	パトリック・ムダカネ		Н			H			-			Н		
Africa	南アフリカ	Trevor Rustin	トレヴァー・ラスティン	100	Н	\$100		1.0	\$100		1.0			H	\$110	
South Africa	南アフリカ	Deen Daniels	ディーン・ダニエルス	87	1.1	\$100	110	1.0	\$110	110	1.0	\$110	100	1.0	\$100	since 2013.1
South Africa	南アフリカ	Thomas Sindephi Mayekani	トーマス・シンデフィ・マエ カニ	200	1.0	\$200	180	1.0	\$180	180	1.0	\$180		Ш		since 2015.6
South Africa	南アフリカ	Medupi Robert Lechelele	メドゥピ・ロバート・レチェレ レ	150	1.0	\$150	120	1.0	\$120	120	1.0	\$120				since 2015.6
Tunisia	チュニジア	Faouzi Bellaaj	ファウジ・ベラージ	300	1.0	\$300	300	1.0	\$300	300	1.0	\$300	280	1.0	\$280	
		Africa Total	アフリカ 集計	1,997		\$2,198	1,820		\$1,820	1,750		\$1,750	1,373	П	\$1,384	
Iran	イラン	Ahmad Pourmohseni	アーマド・ポルモセーニ				150	1.0	\$150	300	1.0	\$300	150	1.0	\$150	
Iran	イラン	Mozafar	モザファル・ハサンザ		H			П			T			Н		
Iran	イラン	Hasanzadeh Fard Jamal Rashti	デー・ファード ジャマル・ラシュティ		H			Н			$\vdash$			H		
					Н			Н		-	-		<u> </u>	Н		
Iran	イラン	Mehdi Farahmand	メディ・ファラーマン		H			H			⊢			Н		
Iran	イラン	Ahmad Shaghaghi	アーマド・シャグハギ	700	Н	\$700	700		\$700		$\vdash$			Н		since 2017.5
Iraq	イラク	Ayad Khafaja	アヤド・カファジャ	200	1.0	\$200	200	1.0	\$200	200	1.0	\$200	180	1.0	\$180	
Jordan	ヨルダン	Khalid W. Zakzook	カーリッド・W・ザクズーク					Ш						Ш		
Kuwait	クウェート	Abdullah Banwan Omran Albanwan	アブドゥラ・バンワン・オム ラン・アルバンワン	100	5.0	\$500	100	5.0	\$500	100	5.0	\$500	100	5.0	\$500	
Lebanon	レバノン	Hachem M. Makki	ハシェム・M・マッキ				500	1.0	\$500	500	1.0	\$500	340	1.0	\$340	
U.A.E.	アラブ首長 国連邦	Bibin Kurian Thekkumchery	ビビン・クリアン・テクムケ	225	1.0	\$225	200	1.0	\$200	175	1.0	\$175	170	1.0	\$170	
Yemen	イエメン	Abd Alrahman Mohamed Al	ァブド・アルラフマーン・モ ハメド・アルアマッシュ											П		
		Middle East	中東集計	1,225		\$1,625	1,850	П	\$2,250	1,275		\$1,675	940	П	\$1,340	
Andorra	アンドラ	Total Jesus Talan	ヘスス・タラン	100	2.0	\$200		2.0	\$200		2.0			Н	**,***	since2015.12
Armenia	アルメニア	Murad Kspoyan	ムラッド・コスポヤン	250	Н	\$250	250		\$250		1.0			1.0	\$250	0.11002010.11
	オーストリ															
Austria	アゼルバイ	Marek Kubek Allahverdi	マレック・クベック アラーヴェルディ・ルスタモ	300	1.0	\$300	300		\$300	300			250	1.0	\$250	
Azerbaijan	ジャン	Rustamov	フ	300	1.0	\$300	300		\$300				300	H	\$300	
Belarus	ベラルーシ	Henadzi Zhukouski	ヘナズィー・ズコウスキー	180	1.0	\$180	160	1.0	\$160	140	1.0	\$140	130	1.0	\$130	since 2013.8
Belgium	ベルギー	Martin Michel	マーティン・ミッシェル	271	2.0	\$542	226	2.0	\$452	201	2.0	\$402	152	2.0	\$304	
Belgium	ベルギー	Luc Vandecraen	ルーク・ファンデクラエン	239	1.0	\$239	239	1.0	\$239	228	1.0	\$228	231	1.0	\$231	
Belgium	ベルギー	Koen Spitaels	コーン・スピテールス	270	2.0	\$540	226	2.0	\$452	201	2.0	\$402	153	2.0	\$306	
Bulgaria	ブルガリア	Veltchev, Popov	ヴェルチェフ、ポポフ	350	1.0	\$350	350	1.0	\$350	320	1.0	\$320	320	1.0	\$320	
Bulgaria	ブルガリア	Boris Nikolov	ボリス・ニコロフ	290	1.0	\$290	290	1.0	\$290	280	1.0	\$280	280	1.0	\$280	since 2014.12
Bulgaria	ブルガリア	Hristo Terziev	ヒリスト・テルジエフ	211	1.0	\$211	218	1.0	\$218	220	2.0	\$440	220	2.0	\$440	since
Croatia		Milan Garasic	ミラン・ガラシク	150	Н	\$150	150		\$150		1.0			Н	\$300	2014.12
Croatia	クロアチア	Nikola Banjeglav	ニコラ・バンジェグラフ	150	Н	\$150		1.0	\$150		1.0			1.0		since 2015.6
Czech					Н						-			Н		J30 2013.0
Republic	チェコ	Jiri Zofcin	ジリ・ゾフチン	320	1.0	\$320	320	0.9	\$303	320	1.0	\$323	320	1.0	\$320	
Denmark	デンマーク	Jan Bulow	ヤン・ビュロウ		Н			Н			$\vdash$			Н		
Denmark	デンマーク	Bulow, Trier	ビュロウ、トリアー	1,005	2.0	\$2,010	1,100	2.0	\$2,200	1,135	2.0	\$2,270	1,203	2.0	\$2,406	
Estonia	エストニア	Dinibek Izbatorov	デニベク・イズバティロフ					Ш			L			Ц		
France	フランス	Jean-Philippe Bazerque	ジャン・フィリップ・バゼル ク		Ш	\$30	600	2.0	\$1,200	600	2.0	\$1,200	600	2.0	\$1,200	Left in 2017
France	フランス	Pascal Rouxel	パスカル・ルクセル	300	2.0	\$600	200	2.0	\$400	200	2.0	\$400	200	2.0	\$400	
France	フランス	Sebastien Vanroyen	セバスティアン・ヴァンロイエン	300	2.0	\$600	200	2.0	\$400					П		since 2017.5
Georgia	グルジア	Avtandil Shengelia	アヴタンディル・シェンゲレ	220	1.0	\$220	220	1.0	\$220	250	1.0	\$250	215	1.0	\$215	
Georgia	ジョージア	Zaal	ザエル・モイスツラピシェ		H			П			Н			Н		
		Moistsrapishvili	ヴィリ	635	2.0	¢1 070	620	20	\$1,240	600	20	\$1.000	E10	20	\$1,000	
Germany Great	ドイツ	Wolfgang Pech	ウォルフガング・ペック		Н	\$1,270		2.0			2.0			2.0	\$1,020	
Britain	イギリス	Andrews, Heath	アンドリュース、ヒース		5.0	\$440	85		\$425		5.0		98	Н	\$490	
Greece	ギリシャ	George Kosmidis	ジョージ・コスミディス	300	Н	\$300	205		\$205		1.0		187	1.0	\$187	
Greece	ギリシャ	Otario Melikiadis	オタリオ・メリキアディス	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	
		Kalman, Karmazin,	カルマン、カルマジン、		ı			ıl		ĺ	1		1		l	
Hungary	ハンガリー	Kaloczi	カーローツィー								L			1		
Hungary	ハンガリー	Kaloczi Furko Kalman	フルコ・カルマン	650	2.0	\$1,300	650	2.0	\$1,300	650	2.0	\$1,300	650	2.0	\$1,300	

				2018				17		16		1				
Country	国名	Branch Chief	支部長名	会員数	0	年会費	会員數	0	年会費	会員数	0	年会費	会員数	20	年会費	
		Name		Members	\$	Annual Fee			Annual Fee		\$			\$	Annual Fee	/Remarks
Hungary	ハンガリー	Jozsef Kaloczi	ヨージェフ・カーローツィ	900	2.0	\$1,800	900	2.0	\$1,800	850	2.0	\$1,700	850	2.0	\$1,700	
Hungary	ハンガリー	Tamas Szabo	タマス・サボ	1,600	1.0	\$1,600										since 2018.5
Israel	イスラエル	Gleb Rabinovich	グレブ・ラビノヴィチ				380	5.0	\$1,900	370	5.0	\$1,850	365	4.9	\$1,797	
Italy	イタリア	Roberto Di Blasio	ロベルト・ディブラシオ	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	120	1.0	\$120	
Italy	イタリア	Francesco Fina	フランチェスコ・フィーナ	100	1.0	\$100	100	1.0	\$100	125	1.0	\$125	150	1.0	\$150	since 2012.12
Italy	イタリア	Aldo Raimondi	アルド・ライモンディ	100	1.0	\$100	100	1.0	\$100	125	1.0	\$125				since 2015.8
Latvia	ラトビア	Vladmirs Lavrinovics	ウラジミール・ラブリノビク ス													
Liechtenstein	リヒテン シュタイン	Normann Kaiser	ノルマン・カイゼル	115	4.0	\$460	123	4.0	\$492	120	4.0	\$480	125	4.0	\$500	
Lithuania	リトアニア	Romas Vitkauskas	ロマス・ヴィトカウスカス	3,918	1.0	\$3,918	3,780	1.0	\$3,780	3,652	1.0	\$3,652	3,528	1.0	\$3,528	
Moldova	モルドバ	Aurel Condrea	オーレル・コンドレア	150	1.0	\$150	200	1.0	\$200	200	1.0	\$200	200	1.0	\$200	
Netherlands	オランダ	Sharrenberg, Wedel	シャレンベルグ、ウェーデ	360	4.0	\$1,440	290	4.0	\$1,160	316	4.0	\$1,264	298	4.0	\$1,192	
Netherlands		Roeland De Lange	ローランド・デ・ランゲ			. ,								Н		
		Gilbert Roy	ギルバート・ロイ・クレヴァ	113	2.2	\$363	126	4.0	\$504	126	2.0	\$378	108	4.0	\$432	since
Netherlands	オランダ	Cleveringa Andreassen, Grejs, Helin,	リンガ アンドレアッセン、グレイス、ヘ		-			4.0						Н		2012.11
Norway	ノルウェー	Myklebust	リン、マイクルバスト	567	5.4	\$3,047	612	5.3	\$3,241	618	5.2	\$3,231	832	5.2	\$4,356	
Poland	ポーランド	Jacek Baranowski	ジャセク・バラノウスキー	120	1.0	\$120	120	1.0	\$120	110	1.0	\$110	110	1.0	\$110	
Poland	ポーランド	Krzysztof Borowiec	クリストフ・ボロヴィエック	530	1.0	\$530	420	1.0	\$420	300	1.0	\$300	350	1.0	\$350	
Poland	ポーランド	Roman Keska	ローマン・ケスカ	150	1.0	\$150	150	1.0	\$150	150	1.0	\$150	150	1.0	\$150	
Poland	ポーランド	Wieslaw Gwizd	ヴィエスラヴ・グヴイズド						\$4	400	1.0	\$400	295	1.0	\$295	passed away in June 2016
Poland	ポーランド	Mariusz Godos	マリウシュ・ゴドシュ	200	1.0	\$200	220	1.0	\$220	300	1.0	\$300	268	1.0	\$268	
Poland	ポーランド	Bogdan Lubos	ボグダン・ルボス	500	1.0	\$500	420	1.0	\$420	360	1.0	\$360	350	1.0	\$350	
Poland	ポーランド	Remigiusz	レミギュシュ・カラピンス	630	1.0	\$630	480	1.0	\$480	420	1.0	\$420	395	1.0	\$395	
Poland	ポーランド	Karpinski Jacek Lamot	ジャセク・ラモト	250	1.0	\$250	250	1.0	\$250	200	1.0	\$200	200	1.0	\$200	
Poland	ポーランド	Mariusz Mazur	マリウシュ・マズール	1,000	Н	\$1,000	1,000		\$1,000	700		\$700	700		\$700	
														Н		
Poland	ポーランド	Tomasz Basiak	トマス・バシアック	452	Н	\$452		1.0	\$450	410		\$410		1.0	\$410	
Poland	ポーランド	Bogdan Jeremicz	ボグダン・ジェレミクス	454	Н	\$454	390	1.0	\$390	310	1.0	\$310	335	1.0	\$335	
Poland	ポーランド	Artur Wilento	アルトゥール・ヴィレント	400	1.0	\$400	340	1.0	\$340	325	1.0	\$325	310	1.0	\$310	
Poland	ポーランド	Eugeniusz Dadzibug	エウゲニウシュ・ダディブ グ	700	1.0	\$700	700	1.0	\$700	700	1.0	\$700				since 2016.7
Poland	ポーランド	Wojciech Radziewicz	ボイチェフ・ラジェヴィッチ	2,050	1.0	\$2,050	1,200	1.0	\$1,200							since 2017.5
Poland	ポーランド	Marek Krejpcio	マレック・クレイプシオ	150	1.0	\$150										since 2017.5
Portugal	ポルトガル	Fabiano Moreira	ファビアーノ・モレイラ													
Romania	ルーマニア	Chirila, Wallmen, Petrut	チリラ、ワルメン、ペトルー	540	1.0	\$540	540	1.0	\$540	520	1.0	\$520	520	1.0	\$520	
Slovakia	スロバキア	Janos Markovics	' ジャノス・マルコヴィクス	200	1.0	\$200	200	1.0	\$200	200	1.0	\$200	140	1.0	\$140	
Spain	スペイン	Escalera, Soriano,	エスカレラ、ソリアーノ、レクエ	850	3.0	\$2,550	770	3.0	\$2,310	750	3.0	\$2,250	745	3.0	\$2,215	
Spain	スペイン	Requena, Lozano, Adria Juan Carlos	ナ、ロザーノ、アドリア ホアン・カルロス・エスカレ			. ,										
		Escalera	5 	000	0.0	\$1 COO	000	2.0	\$1 COO	050	0.0	£1 700	000	0.0	£1 000	
Spain	スペインスウェーデ	Jesus Talan Meszaros, Soderkvist, Fitkin,	ヘスス・タラン	800	Н	\$1,600		2.0	\$1,600		2.0			2.0	\$1,800	
Sweden	ン	Collins, Nygren, Payne, Ghanbari	メサロス、ソデルクヴィスト、フィトキン、コリン ズ、ニューグレン、ペイン、ガンパリ	3,664	2.0	\$7,328	3,701	2.0	\$7,402	3,332	2.0	\$6,664	2,800	2.0	\$5,600	
Switzerland	スイス	Peter Steinmann Steinmann, Gabler,	ピーター・スタイマン スタイマン、ガブラー、A・													
Switzerland	スイス	A. Polimeno, L.	ポリメノ、L・ポリメノ	563	4.0	\$2,252	619	4.0	\$2,476	648	4.0	\$2,592	655		\$2,620	
Ukraine	ウクライナ	Alexander Goncharenko	アレクサンダー・ゴンチャ レンコ	775	2.0	\$1,550	740	2.0	\$1,480	620	2.0	\$1,240	470	2.0	\$940	
Ukraine	ウクライナ	Sergii Bronistovskyi	セルゲイ・ブロニストフス キー	425	2.0	\$850	408	2.0	\$816	368	2.0	\$736	329	2.0	\$658	
Ukraine	ウクライナ	Viktor Liashchenko	ヴィクトル・リャシュチェン コ							200	2.0	\$400	200	1.2	\$230	
Ukraine	ウクライナ	Oleksandr Kuzmin	アレクサンドル・クスミン													
Ukraine	ウクライナ	Oleksandr Korol	アレクサンダー・コロール	400	2.0	\$800	300	2.0	\$600	250	2.0	\$500	250	2.0	\$500	
Ukraine	ウクライナ	Sergii Getmanskyi	セルゲイ・ゲトマンスキー	150		\$300		2.0	\$200	100	1.0	\$100	100		\$100	
Ukraine		Sergiy Mutin	セルゲイ・ムティン	450		\$900		2.0	\$760		2.0	\$600		2.0		since 2013.8
Simulio	,,,11				0			0			0			0	\$47,669	55 2010.0
D	n2 =	Europe Total	ヨーロッパ 集計	31,405	0.0	\$50,426	30,268	0.0	\$52,608		0.7	\$49,822	26,027	1.		
Russia	ロシア	Yuriy Shabanov	ユーリ・シャバノフ	550		\$1,650		2.0	\$1,100	550		\$1,100		1.0	\$535	
Russia	ロシア	Boris Glushenkov	ボリス・グルシェンコフ	500	2.0	\$1,000	400	2.0	\$800	400		\$400		2.0	\$600	
Russia	ロシア	Vadim Ivanov	ワディム・イワノフ							300	2.0	\$600	300	2.0	\$600	Left in 2017
Russia	ロシア	Roman Reznik	ローマン・レズニック													Left in 2016
Russia	ロシア	Vladimir Lukovsky	ウラジミール・ルコウスキ	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	
Russia	ロシア	Yury Belyaev	ユーリ・ベリアエフ	340	3.0	\$1,020	460	2.0	\$920	228	1.0	\$228	215	1.0	\$215	
Russia	ロシア	Abdurashid Khidirov	アブドラシド・ヒディロフ	281	4.0	\$1,124	276	4.0	\$1,104	252	1.0	\$252	346	1.0	\$346	
Russia	ロシア	Leonid Ilyushkin	レオニド・イリューシュキン	250	2.0	\$500	350	1.0	\$350	310	1.0	\$310	200	1.0	\$200	
Russia	ロシア	Zakhir Nasirov	ザヒール・ナシロフ	300	Н	\$900		3.0	\$900	300		\$900		3.0	\$900	
		Viatcheslav	ヴィアチェスラフ・リトヴィノ													
Russia	ロシア	Litvinov	フ	350	2.0	\$700	337		\$711		3.0	\$999		3.0	\$885	
Russia	ロシア	Sergey Filippov	セルゲイ・フィリポフ	1	ı		250	1.0	\$250	250	1.0	\$250	150	2.0	\$300	i

			Ţ	2018			2017				16					
Country	国名	Branch Chief Name	支部長名	会員数 Members	9	年会費 Annual Fee	会員數 Members	\$		会員数	<b>9</b>	年会費 Annual Fee	会員数	9	年会費 Annual Fee	
Russia	ロシア	Victor Karasyuk	ヴィクトル・カラシューク	300	2.0	\$600	300		\$600	300	1.0	\$300	300		\$300	/ Itoliiai ko
Russia	ロシア	Igor Mazin	イゴール・マジン													Left in 2015
Russia	ロシア	Vyacheslav	ヴャチェスラフ・ミトリコフス	300	2.0	\$600	400	1.0	\$400	350	1.0	\$350	200	1.0	\$200	
Russia	ロシア	Mitrikovsky Denis Grigoriev	キー デニス・グリゴリエフ	150	Н	\$300	150	20	\$300	400		\$800	100	H	\$100	
Russia	ロシア	Andrey Kitkin	アンドレイ・キトキン	500	Н	\$1,000	500			200		\$400	200		\$400	
					Н								200	2.0	<b>\$400</b>	-: 0016.0
Russia	ロシア	Alexander Kim	アレクサンドル・キム	300	2.0	\$600	300	2.0	\$600	150	2.0	\$300			4	since 2016.3
	アフガニス	Russia Total Hayatullah	ロシア 集計	4,221		\$10,094	4,673		\$9,135	4,423		\$7,289	3,541		\$5,681	
Afghanistan	タン アフガニス	Muhammad	ハヤトウラー・モハメド						\$50			\$150	130	0.8	\$100	
Afghanistan	タン	Abasin Shinwari	アバシン・シンワリ				150	0.9	\$135	250	1.0	\$250				since 2016.1
Afghanistan	タン	Habib ur Rahman Adil	ハビブ・ウル・ラフマン・ア ディル				98	1.0	\$100							since 2017.5
Afghanistan	<b>7</b>	Obaidullah Atikan	オバイドゥラ・アティカン				98	1.0	\$100							since 2017.5
Bangladesh	バングラデ シュ	Zakir Hussain	ザキール・フセイン										120	0.8	\$95	Left in 2017
Bangladesh	バングラデ シュ	Abdullah Mohammad	アブドラ・モハマド・ホサイ ン	250	1.0	\$250	200	1.0	\$200							since 2017.3
China	中国	Keiji Okumura	奥村 啓治	777	1.0	\$777	374	1.0	\$374	275	1.0	\$275	330	1.0	\$330	
Taiwan	台湾	Shinya Ikeda	池田 慎哉	110	1.0	\$110	100	1.0	\$100	55	1.8	\$100				since 2016.1
Guam	グアム	Chris Biolchino	クリス・バイオチノ	110	4.0	\$440	112	4.0	\$448	121	4.0	\$484	100	4.0	\$400	since 2013.10
Hong Kong	香港	Eric Wan	エリック・ワン	120	2.0	\$240	115	2.0	\$230	133	2.0	\$266	118	2.0	\$236	
China	中国	Eric Wan	エリック・ワン	50	2.0	\$100	50	2.0	\$100	65	2.0	\$130				
India	インド	Shivaji Ganguly	シヴァジ・ガングリー									\$194	1,050	1.0	\$1,050	Left in 2016
India	インド	Rameshkumar	ラメシュクマール・クリシュ		H		410	1.0	\$410	410	1.0	\$410	400	1.0		Left in 2018
India	インド	Krishnasamy Asharaf Abdul	ナサミー アシャラフ・アブドゥル・	400	1 0	\$400	600			900		\$900	600			since 2015.6
India	インド	Shukoor Shibayan Ganguly	<b>シュクール</b> シバヤン・ガングリー	400	0	Ψ100	000	7.0	<b>\$000</b>	300	1.0	\$300	000	1.0	φυσυ	Left in 2016
										110		***				
India	インド	Mahendra Singh	マヘンドラ・シン	160			150	1.0	\$150	110	1.0	\$110				Left in 2018
India	インド	Sunil Kumar Singh	スニル・クマール・シン				208		\$208	208	1.0	\$208				since 2016.3
India	インド	Nirmalya Sikdar	ニルマルヤ・シクダール				270	1.0	\$270							Left in 2017
India	インド	Srinivasuloo Panem	スリニヴァスルー・パネム	150	0.8	\$126	120	1.0	\$120							since 2017.1
India	インド	Navin Kumar Singh	ナヴィン・クマール・シン				200									Left in 2017
India	インド	Ilayaperumal Jebadurai	イラヤペルマル・ジェバドゥ ライ				200	1.0	\$200							since 2017.5
India	インド	Gopal Chandra Sarkar	ゴパール・チャンドラ・サル カール	250	1.0	\$250	320	1.0	\$320							since 2017.5
India	インド	Ganesh Muthu Krishna	ガネシュ・ムトゥ・クリシュ ナ	100	1.0	\$100	100	1.0	\$100							since 2017.8
India	インド	Rangaswamy Boraiah	ランガスワミー・ボライア			\$10	100	1.0	\$100							since 2017.8
India	インド	V.G. Nagarajan Nagarai	V・G・ナガラジャン・ナガラ													Left in 2018
India	インド	Raveendran Manoj	ラヴィーンドラン・マノジ・ク	150	1.0	\$150										since 2018.3
India	インド	Uma Prasad Yadav	マール・クラトゥンカル ユマ・プラサド・ヤダヴ	200	1.0	\$200										since 2018.7
India	インド	Milan Badyakar	ミラン・バトヤカール	150	Н	\$150										since 2018.7
Indonesia	インドネシ	Sujoto,Djunaedi,	スジョト、ジュナエディ、レ		1.0	*100										01100 2010.7
	ア インドネシ	Lesmono, Soedjono Sukarno Djunaedi	スモノ、ソエジョノ	170	2.0	\$340	160	2.0	\$320	150	2.0	\$300	120	2.0	\$240	
Indonesia	ア インドネシ		スカルノ・ジュナエディ		Н											
Indonesia	アインドネシ	Tejo Lesmono	テジョ・レスモノ	150	Н	\$300		2.0		150		\$300		2.0	\$200	
Indonesia	インドネシ インドネシ	Hary Soedjono	ハリー・ソエジョノ	150	Н	\$300	100		\$200	150		\$300		2.0	\$200	
Indonesia	ア	JB Sujoto	JB・スジョト	200	Н	\$400	160		\$320	150		\$300		2.0	\$280	
Indonesia	インドネシア	Mas Gufron Heru Subagijo	マス・グフロン・ヘル・S	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	since 2014.5
Indonesia	インドネシア	Rudy Haryanto	ルディ・ハルヤント	150	1.0	\$150	150	1.0	\$150	200	1.0	\$200				since 2016.7
Indonesia	インドネシ ア	Mario Christi Suyoto	マリオ・クリスティ・スヨト	100	1.0	\$100	60	1.7	\$100	50	2.0	\$100				since 2016.7
Kazakhstan	カザフスタ ン	Adilbek Irsembetov	アディルベク・イルセムベト フ	100	3.0	\$300	100	3.0	\$300	100	3.0	\$300	100	3.0	\$300	
Kazakhstan	カザフスタ ン	Alexander Medvedev	アレクサンダー・メドヴェデ フ	540	2.0	\$1,080	452	3.0	\$1,356	512	2.0	\$1,024	389	3.0	\$1,167	
Kazakhstan	カザフスタン	Batyrkhan Sarmanov	バティルハン・サルマノフ	160	1.3	\$211	160	2.0	\$320	150	2.0	\$300	200	2.0	\$400	
Kazakhstan	カザフスタン	Kairtay Sarmanov	カイルタイ・サルマノフ	275	1.8	\$485	250	2.0	\$500	238	2.0	\$476	265	2.0	\$530	
Kazakhstan	カザフスタ	Bolat Baktayev	ボラット・バクタイェフ	250	Н	\$500	250			100		\$500	200		\$1,000	
Kazakhstan	カザフスタ	Sergey Demidov	セルゲイ・デミドフ	100	Н	\$200		2.0		100		\$200		3.0		since 2013.5
Kazakhstan	ン カザフスタ	Dmitriy Tarassov	ドミトリー・タラソフ	100	Н	\$200		2.0		125		\$250	130			since 2013.5
	ン カザフスタ			100	0	φ200	100	0	\$200					Н		
Kazakhstan	ン カザフスタ	Vlada Danilina Alexsandr	ヴラダ・ダニリナ アレクサンドル・コレスニコ		Н					100		\$174		2.0		since 2013.5
Kazakhstan	カザフスタ	Kolesnikov	フ		Н			1.0		130		\$130	100	H		since 2013.5
Kazakhstan	ン	Zaina Betirova	ザイナ・ベティロヴァ		Щ			1.0	\$500	500		\$500	420	H	\$420	since 2013.5
Kazakhstan	カザフスタン	Andrey Petrovskiy	アンドレイ・ペトロフスキィ				110	2.0	\$220	105	2.0	\$210	110	2.0	\$220	since 2013.5
Kazakhstan	カザフスタン	Mariya Gridneva	マリア・グリドネヴァ	140	2.1	\$300	140	1.0	\$140	136	1.0	\$136	140	2.0	\$280	since 2013.5
	カザフスタ	Ruslan	ルスラン・サルセンバイェ	110	1.0	\$110	110	1.0	\$110	110	1.5	\$165	110	1.0	\$110	since 2015.6
Kazakhstan	ン	Sarsenbayev	)					_								

			[	2018			2017			2016				1		
	-	Branch Chief		会員数	20	年会費	会員數	<b>2</b> 0	年会費	会員数		年会費	会員数	20 <sup>-</sup>	年会費	備考
Country	24	Name	支部長名	Members	\$	Annual Fee		\$		Members	\$	Annual Fee	Members		Annual Fee	/Remarks
Korea	韓国	Byeong Jun Jang	チャン・ビョンジュン							100	1.0	\$100	100	1.0	\$100	Left in 2017
Korea	韓国	Bong Su Kim	ボン・スー・キム										100	1.0	\$100	Left in 2017
Korea	韓国	Young Geol Kim	ヨウン・ゴル・キム							100	2.0	\$200	120	1.0	\$120	Left in 2016
Korea	韓国	Min Soo Kwon	ミン・ス・クォン													Left in 2016
Korea	韓国	Yong Hoon Kim	ヨン・フン・キム							100	1.0	\$100				since 2016.3
Kyrgyz	キルギス	Vladimir Bychkov	ウラジミール・ビチコフ	150	1.0	\$150	150	1.0	\$150	150	1.0	\$150	100	1.0	\$100	
Kyrgyz	キルギス	Nurfaiz Almazbek	ヌルファイズ・アルマズベ	100	1.5	\$150	100	1.0	\$100	100	1.0	\$100	100	2.0	\$200	since 2015.6
Macau	マカオ	Uulu Man Seng U	ク・ウウル マン・セン・ウー	26	4.0	\$104	28	4.0	\$112	28	4.0	\$112				since 2016.3
Malaysia		Kin Meng Chung	キン・ミン・チャン	100	Н	\$100	100		\$100		1.0	\$150	150	1.0	\$150	0.1100 2010.0
					Н											since
Malaysia		Chin Guan Tan	チン・グアン・タン	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	2013.10
Malaysia	マレーシア	Siew Loong Hee	許 紹隆													since 2014.5
Malaysia	マレーシア	Hee Soon Law	ヒー・スーン・ロー	150	1.0	\$150										since 2018.9
Mongolia	モンゴル	Gombogerel Batmunkh	ゴンボゲレル・バトムンフ	110	1.1	\$125			\$100	100	1.0	\$100	100	1.0	\$100	since 2014.9
Nepal	ネパール	Mohan Kumar Tamang	モハン・クマール・タマン													since 2013.12
Nepal	ネパール	Surya Bahadur Budhathoki	スリャ・バハドゥール・ブダ トキ	90	1.1	\$100	75	1.3	\$100							since 2017.5
Pakistan	パキスタン	Muhammad Arshad Jan	ムハマド・アルシャド・ジャン	210	1.0	\$211	190	1.0	\$190	220	1.0	\$220	200	1.0	\$200	
Pakistan	パキスタン	Muhammad Anis	ムハマド・アニス・カーン	110	1.0	\$110	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	
Pakistan		Khan Khalid Mehmood	カーリド・マームード		H									H		
		Sahib Zada Al Hadi	サヒブ・ザダ・アル・ハディ	110	Н		110	1.0	\$110	105	1.0	\$105	105	1.0	\$105	
Pakistan		Sahib Zada Al Hadi Muhammad Farhad	サビフ・サダ・アル・ハティ ムハンマド・ファルハド・シ		H	*			\$110					H		since
Pakistan	パキスタン	Shinwari	ンワリ	100	Н	\$100	100		\$100		1.0	\$100	100		\$100	2015.10
Philippines	フィリピン	Richard Picar	リチャード・ピカール	120	Н	\$120	120		\$120		1.0	\$114		1.0	\$114	since 2013.7
Sri Lanka	スリランカ	Piyaratne Muthukumarana	ピヤラトネ・ムトゥクマラナ	535	1.0	\$535	510	1.0	\$510	259	1.0	\$259	150	1.0	\$150	
Sri Lanka	スリランカ	Dumidu Dayasen Ratiyala	ドゥミドゥ・ダヤセン・ラティ ヤラ						\$100	112	1.0	\$112	110	1.0	\$110	Left in 2017
Sri Lanka	スリランカ	Alexander W. W. De Zoysa	アレクサンダー・W・W・ デ・ゾイサ										110	1.0	\$110	Passed away in 2015
Sri Lanka	スリランカ	Leelarathne Hewawasam	リーララトネ・ヘワワサム・ ハッガラゲ				120	1.0	\$120	100	1.0	\$100				Left in 2017
Sri Lanka	スリランカ	Baraniwala Ajith Livanage	バラニワラ・アジス・リヤナ	105	1.0	\$105	130	1.0	\$130							since 2016.9
Sri Lanka	スリランカ	Thusitha Kosala	ツシサ・コサラ・ロク・ジー	300	1.0	\$300	300	1.0	\$300							since 2016.9
Sri Lanka	スリランカ	Loku Geeganage Raminda Perera	ガナゲ ラミンダ・ペレラ・ヘラス・ラ	130	Н	\$130										since 2017.8
		Herath Ralalage Indika Sanjeewa	ララゲ インディカ・サンジーワ・		1.0	ψ100										since 2018.4
Sri Lanka	スリランカ タジキスタ	Seekku Arachchige	シーク・アラチチゲ	106	Н									_		
Tajikistan	5 17	Saidikrom Nazarov	サイディクロム・ナザロフ									\$7	250	1.0	\$250	since 2014.9
Thailand	タイ	Fumiaki Nagashima	永島 文秋	100	2.0	\$200	100	2.0	\$200	100	2.0	\$200	50	2.0	\$100	since2012.11
Singapore	<i>70</i>	Patrick Teo	パトリック・テオ	250	1.0	\$250	200	1.0	\$200	200	1.0	\$200	200	1.0	\$200	since2013.1
Singapore	シンガポー ル	Kim Lee Bong	キム・リー・ボン	150	1.0	\$150	120	1.0	\$120	120	1.0	\$120	120	1.0	\$120	since 2014.5
Uzbekistan	ウズベキス タン	Khasan Nazarov	カサン・ナザロフ	450	1.0	\$456	410	1.0	\$410	380	1.0	\$377	370	1.0	\$370	
Vietnam	ベトナム	Yutaka Tsugawa	津川 裕	202	1.0	\$202	126	1.0	\$126	80	1.3	\$100	72	1.4	\$100	since 2013.7 former Club
		Asia Total	アジア 集計	9,696		\$12,347	10,566		\$14,149	9,001		\$13,068	8,893		\$12,867	
Australia	オーストラ	Volke,Lever	ヴォルク、レバー													
Australia	リア オーストラ	Peter Volke	ピーター・ヴォルク	100	4.0	\$400	100	4.0	\$400	100	4.0	\$400	193	4.0	\$772	
	オーストラ			100	1.0	<b>V100</b>	100		<b>V</b> 100	100	1.0	¥100				
Australia	オーフトラ	Tom Levar	トム・レバー			***			***			4		1.0		Left in 2016
Australia	リアントラ	David Jacobs	デビッド・ジェイコブズ	100	Н	\$400	100		\$400		4.0	\$400	192	4.0	\$768	since 2014.5
Australia	リア	John Michael Hall	ジョン・マイケル・ホール	100	Н	\$400	100		\$400		4.0	\$400				since 2015.8
Australia	リチ	Yasunari Yahiro	八尋 康成	100	4.0	\$400	100	4.0	\$400	100	4.0	\$400				since 2015.8
Australia	77	Andrew Harisiou	アンドリュー・ハリシオ	100	4.0	\$400	100	1.0	\$100							since 2016.9
New Zealand	ニュージー ランド	Peter Lowl	ピーター・ロウル	100	1.0	\$100	100	1.0	\$100	80	1.3	\$100			\$100	
		South Pacific Total	南太平洋 集計	600		\$2,100	600		\$1,800	480		\$1,700	485		\$1,740	
Canada	カナダ	Camille Ohan	カミーユ・オーハン	520	4.0	\$2,080	480	4.0	\$1,920	475	4.0	\$1,900	386	4.0	\$1,544	
Canada	カナダ	Guy Salter	ガイ・ソルター	294	2.0	\$588	230	4.0	\$920	105	4.0	\$420	80	4.0	\$320	
Canada	カナダ	Siamak Pourhabib	シアマック・プルハビブ		4.0	\$340	100		\$400		4.0	\$400		4.0	\$400	
					Н									H		
Canada	カナダ	Keith Tanton	キース・タントン	115	Н	\$230		4.0	\$460		4.0	\$460		4.0		Left in 2018
Canada	カナダ	Alain Bordeleau	アラン・ボルデロー	217		\$217	217		\$868		4.0			4.0	\$844	
Canada	カナダ	Normand Bordeleau	ノーマン・ボルデロー	115	1.0	\$115	125	4.0	\$500	125	4.0	\$500	125	4.0	\$500	
Canada	カナダ	Luciano Paparella	ルシアノ・パパレラ	130	4.0	\$520	150	4.0	\$600	380	4.0	\$1,520	128	4.0	\$512	
Canada	カナダ	Adrien Rochon	アドリアン・ロション	125	4.0	\$500	125	4.0	\$500	125	4.0	\$500	125	4.0	\$500	
Canada	カナダ	Kevin Vallée	ケヴィン・ヴァレー	103	2.0	\$206	103	4.0	\$412	81	4.0	\$324	40	4.0	\$160	
Canada	カナダ	David Ricci	ダヴィー・リッツィ	70	4.0	\$280	67	5.0	\$335	50	4.0	\$200	31	4.0	\$124	since 2015.1
Canada	カナダ	Antonio Alves	アントニオ・アルヴェス	110	Н	\$110					4.0		80	H		since 2015.6
	カナダ		ジョン・カライドポウロス		Н	\$900			\$800					H		since 2016.5
Canada	ハノブ	COLLIS IVAIRIOS	2 32・22 74 下小リロ人	225	+.0	\$900	200	4.0	\$800	i	ĺ	l	l	ı	I	SIIIUE ZUI 10.5

				2018			2017				20	16				
Country	国名	Branch Chief	支部長名	会員数	0	年会費	会員數	0		会員数	0	年会費	会員数	0	年会費	
Canada	カナダ	Name Andre Gilbert	アンドレ・ギルバート	Members 700	1.0	Annual Fee \$700	Members 665		Annual Fee \$665	Members	\$	Annual Fee	Members	\$	Annual Fee	since
United	アメリカ合				11.					- 10		*100			4440	2017.10
States United	衆国 アメリカ合	Tetsuya Sato	佐藤 哲也	9	1	\$100	18	5.6	\$100	19	5.3	\$100	28	5.0	\$140	
States	衆国	Ghukas Stepanyan	グーカス・ステパンヤン													
United States	アメリカ合 衆国	Karsten Davidsen	カールステン・ダビッドセン													
United States	アメリカ合 衆国	Luis Torregrosa Jr.	ルイス・トレグローサ・ジュ ニア							78	1.3	\$100	65	1.5	\$100	since 2013.5
United States	アメリカ合 衆国	Roman Herman	ローマン・ハーマン				112	2.0	\$224	122	2.0	\$245	100	2.0	\$200	since 2014.5
United	アメリカ合 衆国	Ventsislav Sholin	ヴェンツィスラフ・ショリン	20	7.5	\$150	20	7.5	\$150	18	8.3	\$150	9	16. 7	\$150	since 2015.1
United	アメリカ合	Oleksandr Shlekhar	オレクサンドル・シュレ									\$96		,	\$100	since 2015.6
States United	衆国 アメリカ合	Takashi Sugawara	菅原 尚	20	3.4	\$100	10	5.3	\$100	7	14.	\$100	25		****	since 2015.6
States	衆国	North America			3.4			0.0			3					SINCE 2015.0
		Total	北米 集計	2,867		\$7,136	2,856		\$9,064	2,120		\$8,295	1,648		\$6,054	
Aruba	アルバ	Roony Boye	ルーニー・ボワイエ	100	1.0	\$100	100	1.0	\$100	40	2.5	\$100	50	2.0	\$100	
Costa Rica	コスタリカ	Antonio Gonzalez	アントニオ・ゴンザレス	145			181	0.6	\$100	172	2.0	\$344	193	1.0	\$193	
Curacao	キュラソー	Henry Gougon	ヘンリー・グーゴン	50	4.0	\$200	40	4.0	\$160	35	5.0	\$175	30	5.0	\$150	
Honduras	ホンジュラ	Nestor Cubas	ネストル・クバス・アルバラ	107	1.0	\$107	106	2.0	\$212	102	2.0	\$204	90	2.0	\$180	since 2014.1
Mexico	メキシコ	Alvarado Luis Torregrosa Jr.	ルイス・トレグローサ・ジュ							25	4.0	\$100				since 2016.9
		_	ニア			\$14	100	1.0	\$100				100	1.0	\$100	01100 2010.0
Panama Puerto	パナマ プエルトリ	Mario Sanchez	マリオ・サンチェス		H	\$14	100		\$100	115	1.0	\$115	100		\$100	
Rico	コ	Luis Torregrosa	ルイス・トレグローサ	257	1.0	\$257	177	1.0	\$177	208	1.0	\$208	162	1.0	\$162	
Trinidad and Tobago	トリニダー ド・トバゴ	Michael Jarrette	ミカエル・ハレッテ													
		Central America Total	中米 集計	659		\$678	704		\$849	697	L	\$1,246	625		\$885	
Argentina	アルゼンチ ン	Luis Gaston Couyet	ルイス・ガストン・クエット													Left in 2012
Argentina	アルゼンチ	Sergio Gabriel Pini	セルジオ・ピニ	284	2.0	\$568	259	1.7	\$441	237	2.0	\$474	215	2.0	\$430	
Bolivia	ボリビア	Reynald M. Hoyos	レイナルド・ミランダ・オヨ			\$53	200	1.0	\$200	150	1.0	\$150	100	1.0	\$100	
			ス デニヴァルド・カルヴァル											H		
Brazil	ブラジル	Denivaldo Carvalho Claudenor L.	ホ クラウデノル・ロペス・マガ			\$589	1,115		\$1,115	1,030	1.0	\$1,030	700	H	\$700	
Brazil	ブラジル	Magalhaes	LX				100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	
Brazil	ブラジル	Edvaldo F. da Silva	エドバルド・F・ダ・シルヴァ	110	1.0	\$110	100	1.0	\$100	110	1.0	\$110	100	1.0	\$100	
Brazil	ブラジル	Francisco C. J. Nogueira	フランシスコ・C・J・ノゲイ ラ				100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	
Brazil	ブラジル	Gabriel Pereira	ガブリエル・ペレイラ				110	1.0	\$110	110	1.0	\$110	100	1.0	\$100	
Brazil	ブラジル	Jose Reis de Oliveira	ホセ・ルイス・デ・オリヴェ イラ						\$84	100	1.0	\$100	100	1.0	\$100	
Brazil	ブラジル	Marcos Jesus do	マルコス・ヘスス・ド・カル													Left in 2012
Brazil	ブラジル	Carmo Rafael Cardoso	モ ラファエル・カルドソ・ガル	110	1.0	\$110	100	1.0	\$100	110	1.0	\$110	100	1.0	\$100	
		Garcia Roberto Hiroshi	シア		Н									H		
Brazil	ブラジル	Okumura	ロベルト・ヒロシ・オクムラ ダニエル・ダ・シルヴァ・マ	100	1.0	\$100	100	1.0	\$100	109	1.0	\$109	100	1.0	\$100	
Brazil	ブラジル	Daniel da Silva Martino	ルティノ	100	1.0	\$100	160	0.9	\$150							since 2017.5
Brazil	ブラジル	Wagner Takeshi Yoshizako	ワグナー・タケシ・ヨシザコ	150	1.0	\$150	160	1.0	\$160							since 2017.5
Chile	チリ	Francisco Cornejo	フランシスコ・コルネホ				100	0.2	\$15			\$550			\$550	
Paraguay	パラグアイ	Javier Rojas	ハビエル・ロハス									\$30	250	2.0	\$500	
Peru	ペルー	Hector Chavera	ヘクトル・チャヴェラ				150	1.0	\$150	150	1.0	\$150	200	1.0	\$200	
Uruguay		Eduardo Garcia	エドゥアルド・ガルシア	1,132	1.0	\$1,132	1,128			1,032		\$1,032	1,025	H	\$1,025	
					Н									H		
Uruguay	ウルクアイ	Agustin Rubal	アグスティン・ルバル	416	Н	\$416		1.0		395	1.0	\$395	362	H	\$362	
Uruguay	ウルグアイ	Adriano Hernandez	アドリアーノ・ヘルナンデス	204	1.0	\$204	198	1.0	\$198	212	1.0	\$212	220	1.0	\$220	since2012.10
Uruguay	ウルグアイ	Jarry Gonzalez	ジャリー・ゴンザレス	129	1.0	\$129	136	1.0	\$136	134	1.0	\$134	135	1.0	\$135	Left in 2018
Uruguay	ウルグアイ	Alvaro Vigliola	アルヴァロ・ヴィグリオラ	176	1.0	\$176	175	1.0	\$175	175	1.0	\$175	164	1.0	\$164	since2012.11
Uruguay	ウルグアイ	Gerardo Recuero	ヘラルド・レクエロ	215	1.0	\$215	220	1.0	\$220	228	1.0	\$228	235	1.0	\$235	since2012.12
Uruguay	ウルグアイ	Sebastian Scarlatta	セバスチャン・スカルラッタ	139	1.0	\$139	138	1.0	\$138	135	1.0	\$135	152	1.0	\$152	since2012.12
		Patricio Menendez	パトリシオ・メネンデス	145	Н	\$145		1.0		143			142			since2012.12
Uruguay					Н									H		SINCEZU1Z.1Z
Venezuela	ベネスエラ	David Hernandez  South America	ダヴィッド・ヘルナンデス		1.3	\$100		1.3	\$100		1.1	\$100	110		\$110	
		Total	南米 集計	3,490		\$4,436	5,374		\$5,570	4,850		\$5,677	4,710		\$5,725	
Japan	日本	Sohonbu	総本部	1,360	5.0	\$6,800	1,457	5.0	\$7,285	1,600	5.0	\$8,000	1,668	5.0	\$8,340	
Japan	日本	Hiroyoshi Takamori	高森 浩義							90	5.0	\$450	87	5.0	\$435	Left in 2016
Japan	日本	Shinichi Sotodate	外舘 慎一	160	5.0	\$800	157	5.0	\$785	162	5.0	\$810	150	5.0	\$750	
Japan	日本	Okito Narumi	鳴海 沖人	191	Н	\$955		5.0		192		\$960		5.0	\$935	
	日本				Н									Н		
Japan		Ryoeki Fukaya	深谷良益	156	Н	\$780		5.0		172		\$860	174	Н	\$870	
Japan	日本	Kazumi Kaneda	金田 和美	185	5.0	\$925	176	5.0	\$880	185	5.0	\$925	205	5.0	\$1,025	
Japan	日本	Keiji Sampei	三瓶 啓二	346	5.0	\$1,730	341	5.0	\$1,705	357	5.0	\$1,785	348	5.0	\$1,740	
Japan	日本	Akira Furukawa	古川 章	532	5.0	\$2,660	546	5.0	\$2,730	542	5.0	\$2,710	542	5.0	\$2,710	
Japan	日本	Yasuharu Fujihara	藤原 康晴	203	5.0	\$1,015	231	5.0	\$1,155	264	5.0	\$1,320	283	5.0	\$1,415	
Japan	日本	Takao Inoue	井上 貴雄	160	5.0	\$800	194	5.0	\$970	207	5.0	\$1,035	190	5.0	\$950	
					Н											
Japan	日本	Isao Kobayashi	小林 功	463	0.0	\$2,315	461	5.0	\$2,305	455	0.0	\$2,275	482	0.0	\$2,410	

#### **Annual Fee Payment Status**

				2018			2017			2016						
Country	国名	Branch Chief Name	支部長名	会員数 Members	\$	年会費 Annual Fee	会員数 Members	\$	年会費 Annual Fee		\$	年会費 Annual Fee	会員数 Members	<b>9</b>	年会費 Annual Fee	
Japan	日本	Yoshitaka Sato	佐藤 隆孝	330		\$1,650	365		\$1,825		5.0		367	5.0	\$1,835	/ Remarks
Japan	日本	Koichi Okumura	奥村 幸一	331	5.0	\$1,655	313	5.0	\$1,565	300	5.0	\$1,500	273	5.0	\$1,365	
Japan	日本	Tatsuya Hasegawa	長谷川 達矢	209	5.0	\$1,045	250	5.0	\$1,250	250	5.0	\$1,250	232	5.0	\$1,160	
Japan	日本	Takehisa Iriki	入来 武久	914	5.0	\$4,570	945	5.0	\$4,725	898	5.0	\$4,490	890	5.0	\$4,450	
Japan	日本	Hiroshi Nanri	南里 宏	698	5.0	\$3,490	703	5.0	\$3,515		5.0	\$2,680	517		\$2,585	
Japan	日本	Toshiki Kinami	木浪 利紀	202	5.0	\$1,010	190	5.0	\$950	201	5.0	\$1,005	195		\$975	
Japan	日本	Kunihiro Suzuki	鈴木 国博	165	5.0	\$825		5.0	\$925	170		\$850	186	Н	\$930	
Japan	日本	Norichika	塚本 徳臣		5.0	\$1,435		5.0	\$1,645			\$1,685	321		\$1,605	
Japan	日本	Tsukamoto Ko Tanigawa	谷川 光	221	5.0	\$1,105	216		\$1,080	218		\$1,090	199		\$995	
Japan	日本	Masashi Kimoto	木元 正資		5.0	\$6,410	1,345		\$6,725	1,421	5.0	\$7,105	1,449	$\vdash$	\$7,245	
Japan	日本	Fumiaki Nagashima	永島 文秋	906	5.0	\$4,530	848		\$4,240		5.0	\$3,805	698		\$3,490	
Japan	日本	Kensaku Yamamoto	山本健策	1,035	5.0	\$5,175	1,101	5.0	\$5,505		5.0	\$5,635	1,147	5.0	\$5,735	
Japan	日本	Masahide Jike	寺家 誠秀	209	5.0	\$1,045	249	5.0	\$1,245	250		\$1,250	252	5.0	\$1,260	
	日本	Tsutomu Murayama	村山 努	220	5.0	\$1,100	204	5.0	\$1,020			\$1,045	199	Н	\$995	
Japan	日本	-	遠江 大	354		\$1,770		5.0					341			
Japan		Susumu Toe Naoyoshi							\$1,795		5.0	\$1,765 \$1,185		Н	\$1,705 \$1,260	
Japan	日本	Matsumoto  Masatoshi Maeda	松本 直義 前田 政利	332	5.0	\$1,160	249	5.0	\$1,245 \$1,700		5.0	\$1,185 \$1,505	252 288	H	\$1,260 \$1,440	
Japan				614												
Japan	日本	Shinji Sakamoto	版本 晋治			\$3,070		5.0	\$2,980		5.0	\$3,065	552		\$2,760	
Japan	日本	Takatomi Naito	内藤 隆富	147	5.0	\$735	172		\$860		5.0	\$860	158		\$790	
Japan	日本	Masaru Wada	和田勝	141	5.0	\$705	156	5.0	\$780	166		\$830	161	5.0	\$805	
Japan	日本	Shuichiro Tada	多田 修一郎	126	5.0	\$630		5.0	\$575			\$610	117	5.0	\$585	
Japan	日本	Makoto Takahashi	高橋 誠	286	5.0	\$1,430		5.0	\$1,715		5.0	\$1,640	234		\$1,170	
Japan	日本	Yasuhiro Kurooka	黒岡 八寿裕	467	5.0	\$2,335		5.0	\$2,425		5.0	\$2,530	540	H	\$2,700	
Japan	日本	Tadashi Ishihara	石原 延	160		\$800	167	5.0	\$835		5.0	\$865	184		\$920	
Japan	日本	Hiroyuki Ohama	大濱 博幸	516	Н	\$2,580	515		\$2,575		5.0	\$2,505	464	H	\$2,320	
Japan	日本	Kazuo Miyoshi	三好 一男		Н	\$1,720		5.0	\$1,775		5.0	\$1,825	362		\$1,810	
Japan	日本	Toshiyuki Mitarai	御手洗 俊行	255	5.0	\$1,275	278	5.0	\$1,390		5.0	\$1,405	266	5.0	\$1,330	
Japan	日本	Yuichiro Osaka	逢坂 祐一郎	248	5.0	\$1,240	228		\$1,140			\$1,190	226		\$1,130	
Japan	日本	Kenji Maegawa	前川 憲司	279	Н	\$1,395		5.0	\$1,480		5.0	\$1,520	275		\$1,375	
Japan	日本	Kenji Midori	緑健児	1,515		\$7,575	1,548		\$7,740			\$7,400	1,404		\$7,020	
Japan	日本	Shingo Kusu	楠愼吾	211	5.0	\$1,055	217	5.0	\$1,085	260		\$1,300	269		\$1,345	
Japan	日本	Yasuhiro Yamasaki	山崎保広	124	5.0	\$620	125		\$625			\$600	113	$\vdash$	\$565	
Japan		Masahiko Yamada	山田 政彦		5.0	\$1,490		5.0	\$1,610		5.0			5.0	\$1,645	
Japan	日本	Satoshi Niiho	新保 智	135	Н	\$675	122	5.0	\$610		5.0	\$650	131	5.0	\$655	
Japan	日本	Naoki Kawahara	川原 奈穂樹		Н	\$630	127		\$635		5.0	\$720	188	H	\$940	
Japan	日本	Hideaki Koizumi	小泉 英明	115	5.0	\$575	107	5.0	\$535	111	5.0	\$555		5.0	\$570	
Japan	日本	Kahei Hayashitani	林谷 嘉兵衛			****			****			** ***	94	5.0		Left in 2015
Japan	日本	Takuya Harauchi	原内卓哉	260	Н	\$1,300		5.0	\$1,395		5.0	\$1,440	274	Н	\$1,370	
Japan	日本	Tadashi Fukaya	深谷 忠		5.0	\$730		5.0	\$850		5.0	\$915	184	H	\$920	
Japan	日本	Kazuhito Yamada	山田一仁	393	Н	\$1,965		5.0	\$1,780		5.0	\$1,785		5.0	\$1,665	
Japan	日本	Yasukazu Koi	小井 泰三	357	5.0	\$1,785	342	5.0	\$1,710		5.0	\$1,570	269	H	\$1,345	
Japan	日本	Tomikazu Yoshida	吉田 富和		5.0	\$815	144		\$720		5.0	\$620	122		\$610	
Japan	日本	Kiyohide Kuno	久野 浄英		5.0	\$735		5.0	\$695		5.0	\$665		5.0	\$675	
Japan	日本	Hideki Kesamaru	今朝丸 英紀	134	Н	\$670		5.0	\$625		5.0	\$610	109	5.0	\$545	
Japan	日本	Ryutaro Hirayama	平山 竜太郎	187	Н	\$935	160	5.0	\$800		5.0	\$710				
Japan	日本	Kumiko Sunakawa	砂川 久美子	136	5.0	\$680	131	5.0	\$655	117	5.0	\$585				
Japan	日本	Takayuki Tukagoshi	塚越 孝行	123	5.0	\$615	122	5.0	\$610							
Japan	日本	Eisuke Hiromae	広前 英輔	94	5.0	\$470										
		Japan Total	日本 集計	19,930		\$99,650	20,377		\$101,885	20,303		\$101,515	19,729		\$98,645	
		Grand Total	総計	76,090		\$190,689	79,088		\$199,130	72,944		\$192,036	67,971		\$181,990	